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S>m°. ~m~mgmho~ Am§~oS>H$a g§emoYZ à{ejU g§ñWm, nwUo ‘mÝ¶Vmàmá

g§~moYr AH$mX‘r, Am¡a§Jm~mX

‘hmamḯ> AamOn{ÌV godm (JQ> ~ d JQ> H$) nyd© narjm

narjobm OmVm OmVm...

gamd nona
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1) 2023 gmbr OmJ{VH$ Amamo½` g§KQ>ZoZo Imbrbn¡H$s H$moUË`m Xoembm ‘bo[a`m‘wº  åhUyZ à‘m{UV Ho$bo?
(A) ^maV (~) APa~¡OmZ (H$) nm{H$ñVmZ (S>) Vm{O{H$ñVmZ
n¶m©¶r CÎmao …
1) (A) Am{U (~) ’$º$ 2) (A), (~) Am{U (H$)
3) (A), (H$)  Am{U (S>$) ’$º$ 4) (~) Am{U (S>)

1) World Health Organisation (WHO) certified which of the following countries as Malaria-free

recently?

(a) India (b) Azerbaijan (c) Pakistan (d) Tajikistan

Answer Options :

1) (a) and (b) only 2) (a), (b) and (c) 3) (a), (c) and (d) 4)  (b) and (d)

2) "~mhþ~„r' ~m~V Imbrbn¡H$s H$moUVo/Vr {dYmZ/Zo gË` Amho/AmhoV ?
(A) hm OJmVrb n{hbm 200 ‘rQ>a bm§~rMm ~m§~y H«°$e ~°[a`a Amho
(~) hm H$m±H«$sQ> Am{U ñQ>rbMm n`m©daUnyaH$ n`m©̀  AgyZ {VVH$mM à^mdr Amho
(H$) Vmo `dV‘mi Am{U M§Ðnya Xaå`mZÀ`m ‘hm‘mJm©da ~gdÊ`mV Ambm Amho.
n¶m©¶r CÎmao …
1) (A) ’$º$ 2) (~) ’$º$ 3) (A) Am{U (~) 4) (A), (~) Am{U (H$)

2) Consider the following statements about ‘Bahu Balli’,

(a) it is the world’s first 200-meter-long Bamboo Crash Barrier

(b) it is an eco friendly alternative to concrete and steel and is equally effective

(c) it has been installed on the highway stretch between Yavatmal and Chandrapur

Which of the above statements are true

1) only a 2) only b 3) a and b 4) a,b and c

3) nm{H$ñVmZ gaH$maZo ^maVmVrb qhXy `mÌoH$ê$§Zm emaXm nrR>mbm ôQ> XoÊ`mgmR>r EH$ H$m°[aS>m°a ñWmnZ H$aÊ`mÀ`m àñVmdmbm
‘§Owar {Xbr Amho. `m g§X^m©V Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Amho/AmhoV?
A) emaXm nrR> nmH$ì`má H$mí‘raÀ`m àXoemV Amho
~) emaXm nrR> ho 18 ‘hmeº$s nrR>m§n¡H$s EH$ qH$dm ^ì` e{º$nrR> åhUyZ nyOZr` Amho.
H$) emaXm Xodr hr H$mpí‘ar n§{S>Vm§Mr Hw$bXodr Amho.
S>>) emaXm nrR> ho Pob‘ ZXrÀ`m H$mR>mda Amho.
n¶m©¶r CÎmao …
1) A, ~, H$, S> 2) A, ~, H$ ’$º$ 3) A, H$ ’$º$ 4) S> ’$º$

3) Pakistan government has approved a proposal to establish a corridor which would allow Hindu pilgrims

from India to visit Sharada Peeth. In this regard which of the following statement/s is/are correct ?

a) The Sharada Peeth is located in the region of Pakistan Occupied Kashmir

b) Sharada Peeth is also revered as one of 18 Maha Shakti Peethas, or "Grand Shakti Peethas".

c) Goddess Sharada is the Kuldevi of Kashmiri pandits.

d) It is located on the banks of river Jhelum.

Answer Options :

1) a, b, c, d 2) a, b, c, only 3) a, c only 4) d only
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4) B¹o$bg EQUULEUS ñnogH«$mâQ> ~Ôb Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
A) ho dm’o$da MmbUmao OJmVrb n{hbo A§Vami`mZ Amho.
~) ‘§Ji J«hmMm Aä`mg H$aÊ`mMo  Ë¶mMo C{Ôï> Amho.
H$) Vo OnmZ EAamoñnog EŠgßbmoaoeZ EOÝgr (Om³gm) Zo {dH${gV Ho$bo Amho.
S>) ZmgmÀ`m Amo[a`Z `mZmVyZ Ë¶mMo àjo{nV H$aÊ`mV Ambo.
n¶m©¶r CÎmao …
1) (A) Am{U (~) ’$º$ 2) (A), (~) Am{U (H$)
3) (A), (H$) Am{U (S>$) ’$º$ 4) (A), (~), (H$) Am{U (S>)

4) Which of the following statements about EQQUELUS Spacecraft is/are correct?

a. It is the world’s first steam-propelled spacecraft.

b. It aims to study planet Mars.

c. It was developed by Japan Aerospace Exploration Agency (JAXA).

d. Launched from NASA’s Orion spacecraft.

Answer Options :

1) (a) and (b) only 2) (a), (b) and (c) 3) (a), (c) and (d) 4) (a), (b), (c), (d)

5) Imbr {Xboë¶m OmoS>çm AMyH$ Owidm :
A) A§~w~mMr ‘oim 1. nmoa~§Xa
~) ‘mYdnya ‘oim 2. {VénVr
H$) Zm¡M§S>r ‘oim 3. H$m‘m»¶m ‘§{Xa
S>) ~«÷moËgd‘ 4. ‘raV
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (2) (3) (4) (1)

2) (3) (1) (2) (4)

3) (3) (1) (4) (2)

4) (1) (2) (3) (4)

5) Match the following columns accurately :

A.  Ambubachi Mela 1. Porbandar

B. Madhavpur Mela 2. Tirupati

C. Nauchandi Mela 3. Kamakhya Temple

D.  Brahmotsavam 4. Meerut

Answer Options :

(a) (b) (c) (d)

1) (2) (3) (4) (1)

2) (3) (1) (2) (4)

3) (3) (1) (4) (2)

4) (1) (2) (3) (4)
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6) 2019 gmbr H$mo{h‘mÀ`m bT>mB©Mm 75 dm dYm©nZ {XZ ZmJmb±S>Zo gmOam Ho$bm. H$mo{h‘mMr hr bT>mB© .......... ¶m§À¶m
Xaå`mZ Pmbr hmoVr.
A) ẁHo$ Am{U O‘©Zr ~) ẁHo$ Am{U OnmZ-O‘©Zr      H$) ẁHo$ Am{U OnmZ
n¶m©¶r CÎmao …
1) (H$) ’$º$ 2) (~) Am{U (H$) 3) (A) Am{U (H$>) 4) (A), (~) Am{U (H$)

6) Nagaland has observed in 2019, 75th anniversary of Battle of Kohima . This battle of Kohima took

place between _______ and _______.

a) UK and Germany b) UK and  Japan -Germany        c) UK and Japan

Answer Options :

1) (c) only 2) (b) and (c) 3) (a) and (c) 4) (a), (b) and (c)

7) AbrH$S>oM ho{bZm Mr Mm§Xrnya (Amo{S>em) òWo MmMUr KoÊ`mV Ambr. Ë`mMm g§X ©̂ H$emer Amho?
1) ‘ëQ>r ~°ab aUJmS>m 2) aUJmS>m{damoYr jonUmó 3) àJV Vmo’$m 4) aS>ma¶wº$ ho{bH$m°ßQ>a

7) Recently "HELINA" was tested in Chandipur, Odisha. What does it refer to?

1) Multi Barrel tank 2) Anti tank Guided Missile

3) Advanced gun 4) Radar Helicopter

8) H$bmXmZ ‘ëQ>r-‘m°S>b Q´mpÝPQ> àH$ënmVrb ^maVr` H$m‘Jmam§Zm hmZr nmoM{dÊ¶mgmR>r h„m H$aÊ`mMr `moOZm AmIUmè`m
........... XoemVrb ~§S>Imoam§À`m N>mdÊ`m Zï> H$aÊ`mgmR>r ^maVmZo Am°naoeZ gZamB©O Ho$bo.
1) å`mZ‘ma 2) A’$Jm{UñVmZ 3) Zonmi 4) ŷVmZ

8) India carried out Operation Sunrise to wipe out the insurgent camps planning to hit the Indian workers

at the Kaladan Multi-Modal Transit project along with _______ .

1) Myanmar 2) Afghanistan 3) Nepal 4) Bhutan

9) E{àb 2023 ‘Ü ò {ZYZ Pmboë`m ‘mOr {H«$Ho$Q>nQy> gbr‘ XwamUr `m§À`m~Ôb Imbrbn¡H$s H$moUVo {dYmZ/Zo Iao Amho/
AmhoV ?
A) A’$Jm{UñVmZ‘Ü ò OÝ‘bobo Vo EH$‘od ^maVr` H$gmoQ>r {H«$Ho$Q>nQy> hmoVo.
~) AOw©Z nwañH$ma qOH$Umao Vo n{hbo {H«$Ho$Q>nQy> hmoVo.
H$) Ë`m§Zr {MÌnQ>m§‘Ü ò H$m‘ Ho$bo hmoVo
n¶m©¶r CÎmao …
1) (A) ’$º$ 2) (A) Am{U (~) ’$º$ 3) (A), (~) Am{U (H$) 4) (~) Am{U (H$) ’$º$

9) Which of the following statement(s) is/are true about Former cricketer Salim Durani who passed

away in April 2023

a) He is the only Indian Test cricketer to have been born in Afghanistan

b) He was the first cricketer to win an Arjuna Award

c) He acted in films

Answer Options :

1) (a) only 2) (a) and (b) only 3) (a), (b) and (c) 4) (b) and (c) only
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10) "½bmo~b {‘„oQ²g (lr AÞ) H$m°Ý’$aÝg' ~Ôb Imbrbn¡H$s H$moUVo {dYmZ gË¶ Amho?
A) ¶m n[afXoV CËnmXH$, J«mhH$ Am{U BVa ñQ>oH$hmoëS>g© ¶m§À¶m‘Ü¶o ^aS>YmÝ¶m§Mm àMma d OmJê$H$Vm dmT>{dÊ¶mda bj

{Xbo Jobo.
~) ¶m n[afXoZo ^aS>YmÝ¶m§À¶m ‘yë¶ gmIirÀ¶m {dH$mgmda bj H|${ÐV Ho$bo.
H$) ¶m n[afXoV ^aS>YmÝ¶m§À¶m Amamo½¶ Am{U nm¡{ï>H$ n¡by§da àH$me Q>mH$Ê¶mV Ambm
S>) n§VàYmZ Za|Ð ‘moXr ¶m§Zr H§$n|{S>¶‘ Am°’$ B§{S>¶Z {‘boQ> (lr AÞ) Mo  {S>{OQ>c ¶§ÌUoÛmao bm±qMJ Ho$bo.
B) ‘mM© 2023 ‘Ü¶o ‘w§~B©V hr n[afX Am¶mo{OV H$aÊ¶mV Ambr hmoVr.
n¶m©¶r CÎmao …
1) A, H$, S>, B 2) A, ~, S>, B 3) A, ~, H$, S> 4) A, H$, S>, B

10) Which of the following is true about the ‘Global Millets (Shree Anna) Conference’?

a) It looked into Promotion and awareness of millets among producers, consumers and other

stakeholders

b) It focussed on Millets’ value chain development

c) It highlighted the Health and nutritional aspects of millets

d) Prime Minister Narendra Modi digitally launched Compendium of Indian Millet (Shri Anna)

e) It was held in Mumbai in March 2023

Answer Options :

1) a,c,d,e 2) a,b,d,e 3) a,b,c,d 4) a,c,d,e

11) ........... XoemV ¶wEZ {‘eZ‘Ü ò godm H$aUmè`m 150 ^maVr` em§Vr g¡{ZH$m§Zm Ë`m§À`m godo~Ôb g§̀ wº$ amï´>m§Zr ‘oS>b Am°’$
Am°Za 2019 Zo gÝ‘m{ZV Ho$bo Jobo hmoVo.
1) ò‘oZ 2) X{jU gwXmZ 3) {O~m¡Vr 4) ñbmoìhm{H$`m

11) 150 Indian peace keepers serving with the UN Mission in _______ were honoured with "Medals of

Honour" by the United Nations for their service.

1) Yemen 2) South Sudan 3) Djibouti 4) Slovakia

12) 2024 n ª̀V ‘wXV dmT>dÊ`mV Amboë`m 22 ì`m H$m`Xm Am`moJmMo AÜ`j H$moU AmhoV?
1) Ý`m`‘yVu F$VwamO AdñWr 2) Ý`m`‘yVu a§OZ JmoJmoB©
3) Ý`m`‘yVu M§Ðz 4) Ý`m`‘yVu OñVr Mob‘ol²da

12) Who is the chair of the 22nd Law Commission, which was recently extended until 2024?

1] Justice Rituraj Awasthi 2] Justice Ranjan Gogoi

3] Justice Chandru 4] Justice Jasti Chelameswar

13) g‘oX {eIaOr AbrH$S>o MM}V hmoVo, Ë¶m g§X^m©V Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Amho/AmhoV?
A) hm O¡Z Y‘m©Mm n{dÌ J«§W Amho.
~) ho œoVm§~a n§MVrW©‘Ü¶o g‘m{dï> Amho.
H$) ho n{hbo VrWªH$a, F$f^Xod ¶m§À¶mer g§~§{YV Amho.
n¶m©¶r CÎmao …
1) (~) ’$º$ 2) (A) Am{U (H$) 3) (~) Am{U (H$) 4) (A), (~) Am{U (H$)
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13) Sammed Shikarji was in news recently, with respect to it, which of the following statements is/are

correct?

a) It is a sacred text of Jainism.

b) It is included in the Svetambara Pancha Tirth.

c) It is related to the 1st Tirthankara, Rishabhadeva.

Answer Options :

1) (b) only 2) (a) and (c) 3) (b) and (c) 4) (a), (b) and (c)

14) Imbrbn¡H$s H$moUVo/Vr {dYmZ/Zo gË` Amho/AmhoV ?
A) 29 Owb¡ amoOr Am§Vaamï´>r` {MÎmm {Xdg gmOam Ho$bm OmVmo.
~) Zm{‘{~`m‘Ü ò {MÎ`m§Mr OJmVrb gdm©{YH$ g§»`m Amho.
H$) ^maVmV {MÎmm àH$ën nwÝhm gwê$ hmoB©n ª̀V Vo ^maVmV Zm‘eof Pmbo hmoVo.
S>) {MÎmmÀ`m gd© àOmVr IUCN Ûmao Agwa{jV åhUyZ gyMr~Õ AmhoV.
n¶m©¶r CÎmao …
1) (A) Am{U (~) ’$º$ 2) (~) Am{U (H$) 3) (A), (H$) Am{U (S>$) ’$º$  4) (~), (H$) Am{U (S>)

14) Which of the following statement/s is/are correct?

a) International Cheetah Day is celebrated on July 29.

b) Namibia has the world’s largest population of cheetahs.

c) It was extinct in India until its reintroduction in the country.

d) All cheetahs species are listed as vulnerable by the IUCN.

Answer Options :

1) (a) and (b) only 2) (b) and (c) 3) (a), (c) and (d) 4)  (b), (c), (d)

15) ^maVmVrb ZmJar godm {XZmg§X^m©V Imbrbn¡H$s H$moUVo {dYmZ/`mo½` Amho?
A) ZmJar godm {XZ Xadfu 21 E{àb amoOr gmOam Ho$bm OmVmo.
~) `m {Xder ZmJar godm {XZ gmOam Ho$bm OmVmo H$maU `m {Xder gaXma d„^^mB© nQ>ob `m§Zr ñdV§Ì ^maVmVrb ZmJar

godH$m§À`m n{hë`m VwH$S>rbm g§~mo{YV Ho$bo hmoVo.
H$) ZmJar godm {XZr, ZmJar godH$m§Zm "gmd©O{ZH$ àemgZmVrb CËH¥$ï>VogmR>r amï´>nVr nwañH$ma' {Xbm OmVmo.
(S>) XoemVrb gmd©{ÌH$ {ZdS>UwH$m§‘wio ZmJar godm {XZ 2019 gmOam H$aÊ`mV Ambm Zmhr.
n¶m©¶r CÎmao …
1) (A) Am{U (~) ’$º$ 2) (A) Am{U (H$) 3) darb gd© 4) (A), (~) Am{U (H$)

15) Which of the following statements is/ are correct regarding to Civil Service Day in India?

a) The Civil Services Day is observed on 21st April of every year.

b) Civil Services Day is observed on this day as it was on this day Sardar Vallabhbhai Patel, addressed

the first batch of civil servants in Independent India.

c) On the Civil Services Day, ‘President Award for Excellence in Public Administration’ is given to

civil servants.

d)  Civil Services Day 2019 was not observed due to general elections in the country.

Answer Options :

1) (a) and (b) only 2) (a) and (c) 3) All the above 4) (a), (b) and (c)
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16) Imbrbn¡H$s H$moUr gd©àW‘ ^maVmgmR>r g§{dYmZ g ôMr H$ënZm ‘m§S>br hmoVr ?
1) Odmhabmb Zohê$ 2) ‘hmË‘m Jm§Yr 3) gaXma d„^^mB© nQ>ob 4) E‘.EZ. am°̀

16) Who among the following first put forward the idea of a "Constituent Assembly" for India ?

1) Jawaharlal Nehru 2) Mahatma Gandhi

3) Sardar Vallabhbhai Patel 4) M. N. Roy

17) gZ 1976 ‘Ü ò Ho$boë`m XwéñVrÛmao g§{dYmZmÀ¶m CÔoen{ÌHo$V Imbrbn¡H$s H$moUVo g‘m{dï> H$aÊ`mV Ambo Zmhr?
A) gmd©̂ m¡‘ bmoH$emhr àOmgÎmmH$ ~) gmd©̂ m¡‘ g‘mOdmXr Y‘©{Zanoj bmoH$emhr àOmgÎmmH$
H$) amï´>mMr EH$Vm S>) amï´>mMr EH$Vm Am{U AI§S>Vm
n¶m©¶r CÎmao …
1) A, ~, H$, S> 2) A, ~, H$ ’$º$ 3) A, H$ ’$º$ 4) ~, H$, S> ’$º$

17) Which of the following was NOT inserted in the Constitution by the amendment made in the year

1976?

a) Sovereign Democratic Republic b) Sovereign Socialist Secular Democratic Republic

c) Unity of the nation d) Unity and integrity of the nation

Answer Options :

1) a, b, c, d 2) a, b, c, only 3) a, c only 4) b, c, d only

18) Imbrbn¡H$s H$moUVm ^maVmVrb ‘{hbm§Mm KQ>ZmË‘H$ A{YH$ma Amho?
A) gVràWobm à{V~§Y Am{U gVràWoMm Jm¡ad H$aÊ¶mg {damoY
~) CnOr{dHo$À`m nwaoem gmYZmMm A{YH$ma gwa{jV H$aUo
H$) ‘mV¥Ëd bm^m§Mr VaVyX
n¶m©¶r CÎmao …
1) (A) ’$º$ 2) (A) Am{U (~) ’$º$ 3) (A), (~) Am{U (H$) 4) (~) ’$º$

18) Which one of the following is the constitutional right of women in India?

a) Prevention of commission of sati and its glorification on women

b) Securing right to an adequate means of livelihood

c) Provision of maternity benefits

Answer Options :

1) (a) only 2) (a) and (b) only 3) (a), (b) and (c) 4) (b) only

19) Imbrbn¡H$s H$moUVo amÁ`/H|$Ðem{gV àXoe n{l²M‘ joÌr` n[afXoMo gXñ` Zmhr?
A) ‘hmamï´> ~) JwOamV H$) Jmodm               S>) X‘U-Xrd Am{U XmXam-ZJahdobr
n¶m©¶r CÎmao …
1) A, ~, H$, S> 2) A, ~, H$ ’$º$ 3) A, H$ ’$º$ 4) darbn¡H$s  Zmhr

19) Which of the following States/Union Territories is/are not a member of Western Zonal Council?

a) Maharashtra b) Gujarat c) Goa               d) Daman - Diu and Dadara-NagarHaveli

Answer Options :

1) a, b, c, d 2) a, b, c, only 3) a, c only 4) None of the above
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20) Imbrbn¡H$s H$em~m~V amÁ`nmb amï´>nVtH$S>o {e’$mag H$ê$ eH$V ZmhrV?
A) Cƒ Ý`m`mb`mVrb Ý`m`mYrem§Mr hH$mbnÅ>r
~) amÁ` {dYmZg ôMo {dgO©Z
H$) amÁ`mVrb KQ>ZmË‘H$ §̀ÌUm I§{S>V Pmë`mMr KmofUm
n¶m©¶r CÎmao …
1) (A) ’$º$ 2) (A) Am{U (~) ’$º$ 3) (A), (~) Am{U (H$) 4) (~) Am{U (H$) ’$º$

20) Which one of the following is an issue about which a Governor cannot make a recommendation to

the President ?

a) Removal of the judges of the High Court.

b) Dissolution of the state legislative assembly.

c) Declaration of breakdown of the constitutional machinery in the state.

Answer Options :

1) (a) only 2) (a) and (b) only 3) (a), (b) and (c) 4) (b) and (c) only

21) Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Amho/AmhoV?
A) ^maVmÀ`m n§VàYmZm§Zm H$mTy>Z Q>mH$Ê`mMr à{H«$`m ^maVr` g§{dYmZmV Z‘yX Ho$br Jobobr Zmhr.
~) amÁ`mÀ`m amÁ`nmbm§Zm hQ>dÊ`mMr à{H«$`m ^maVr` amÁ`KQ>ZoV Z‘yX  H$aÊ`mV Ambr Amho.
H$) {Z §̀ÌH$ Am{U ‘hmboIm narjH$ `m§Zm H$mTy>Z Q>mH$Ê`mMr à{H«$`m ^maVmÀ`m gdm}ƒ Ý`m`mb`mÀ`m Ý`m`mYrem§Zm H$mTy>Z

Q>mH$Ê`mgmaIrM Amho.
n¶m©¶r CÎmao …
1) (A) Am{U (~) ’$º$ 2) (A) Am{U (H$) ’$º$ 3) (~) Am{U (H$) 4) (A), (~) Am{U (H$)

21) Which of the following statement/s is/are correct ?

a) The process of removal of Prime Minister of India has not been provided in the Indian Constitution.

b) The process of removal of Governor of a State has been provided in the Indian Constitution.

c) The process of removal of Comptroller and Auditor-General is the same as that of the removal of

a judge of the Supreme Court of India.

Answer Options :

1) (a) and (b) only 2) (a) and (c) 3) (b) and (c) 4) (a), (b) and (c)

22) Imbrbn¡H$s H$moUË`m AmYmamda, '^mfU Am{U A{^ì`º$s ñdmV§Í`' ¶mda ^maVmV dmOdr {Z~ªY KmVbo Jobobo AmhoV?
A) XoemMo gmd©̂ m¡‘Ëd Am{U AI§S>Vm ~) naXoer amÁ`m§er ‘¡ÌrnyU© g§~§Y
H$) ~XZm‘r S>) Ý¶m¶mb¶mMm Ad‘mZ
n¶m©¶r CÎmao …
1) (A) Am{U (~) ’$º$ 2) (A), (~) Am{U (H$) 4) (A), (H$) Am{U (S>) 4) (A), (~), (H$), (S>)

22) On which of the following grounds, ‘Freedom of Speech and Expression’ is subjected to reasonable

restrictions?

a) Sovereignty and integrity of the country b) Friendly relations with foreign states

c) Defamation d) Contempt of court

Answer Options :

1) (a) and (b) only 2) (a), (b) and (c) 3) (a), (c) and (d) 4) (a), (b), (c), (d)
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23) Imbrbn¡H$s H$moUVr ~m~ Cƒ Ý`m`mb`mÀ`m A{YH$majoÌmV Zmhr?
1) Vo H${Zð> Ý`m`mb`mVrb {ZH$mbm{damoYmVrb Anrb EoHy$ eH$Vo.
2) Vo ‘yb ŷV A{YH$ma nwZñWm©{nV H$aÊ`mgmR>r [aQ> Omar H$ê$ eH$Vo.
3) Vo XmoZ amÁ`m§‘Yrb ZXrÀ`m nmÊ`mÀ`m dmXmda {ZU©̀  KoD$ eH$Vo.
4) Vo Ë`mÀ`m ImbÀ`m Ý`m`mb`m§da XoIaoI Am{U {Z §̀ÌU R>odVo.

23) Which of the following is NOT within the jurisdiction of the State High Court?

1) It can hear appeals from lower courts

2) It can issue writs for restoring Fundamental Rights.

3) It can decide the river water dispute between the two states.

4) It exercises superintendence and control over courts below it.

24) Ý`m` n§Mm`Vt~m~V Imbrbn¡H$s H$moUVo MwH$sMo Amho?
A) Ý`m` n§Mm`V hr {ddmX {ZamH$aUmMr  n`m©̀ r àUmbr Amho.
~) Ý`m` n§Mm`V {XdmUr VgoM ’$m¡OXmar joÌmV Ý`m{`H$ H$m }̀ H$aVo.
H$) `m‘wio bmoH$emhr {dH|$ÐrH$aU hmoVo Am{U gwb^arË¶m Ý¶m¶ {‘iy eH$Vmo.
n¶m©¶r CÎmao …
1) (~) Am{U (H$) ’$º$ 2) (A), (~) Am{U (H$)  3) (H$) ’$º$ 4) darbn¡H$s Zmhr

24) Which among the following is incorrect about Nyaya Panchayats?

a) It composes a system of alternate dispute resolution.

b) It has judicial functions both in civil as well as in criminal fields.

c) It leads to democratic decentralisation and also provides easy access to justice.

Answer Options :

1) (b) and (c) only 2) (a), (b) and (c) 3) (c) only 4) None of the above

25) PESA n§Mm`V (AZwgy{MV joÌm§Mm {dñVma) H$m¶Xm .......... g{‘VrZo Ho$boë`m {e’$maetÀ`m AmYmao V`ma Ho$bm Jobm Amho.
1) Ho$ nr qgJ Xod g{‘Vr 2) Ho$. g§WmZ‘ g{‘Vr 3) Eg. ŵ[a`m g{‘Vr 4) Eg. H$moR>mar g{‘Vr

25) Provisions of PESA - Panchayats (Extension to Scheduled Areas) Act are designed on the basis of

the recommendations made by ________.

1) K P Singh Deo committee 2) K. Santhanam committee

3) S. Bhuria committee4) S. Kothari committee

26) Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Amho/AmhoV?
A) dm°aZ hopñQ>§½O ho ~§JmbMo n{hbo JìhZ©a OZab hmoVo.
~) bm°S>© {dë`‘ ~|{Q>H$ ho ^maVmMo n{hbo JìhZ©a OZab hmoVo.
H$) bm°S>© H°$qZJ ho ^maVmMo n{hbo ìhmB©gam°̀  hmoVo.
n¶m©¶r CÎmao …
1) (A) Am{U (~) ’$º$ 2) (A) Am{U (H$) ’$º$ 3) (~) Am{U (H$) 4) (A), (~) Am{U (H$)
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26) Which of the following statement/s is/are correct?

a) Warren Hastings was the first Governor-General of Bengal.

b) Lord William Bentinck was the first Governor-General of India.

c) Lord Canning was the first Viceroy of India.

Answer Options :

1) (a) and (b) only 2) (a) and (c) 3) (b) and (c) 4) (a), (b) and (c)

27) Imbrbn¡H$s H$moUË¶m JìhZ©a OZabZo g§ñWm{ZH$m§À`m H$ma^mamV VQ>ñWVm Am{U hñVjon Z H$aÊ`mMo YmoaU gwê$ Ho$bo?
1) dm°aZ hopñQ>§½O 2) bm°S>© H$m°Z©dm°{bg 3) ga Om°Z emoa 4) bm°S>© dobñbr

27) Who among the following Governor-General of the English East India introduced the policy of

neutrality and non-intervention in the affairs of the Indian native states?

1) Warren Hastings 2) Lord Cornwallis 3) Sir John Shore 4) Lord Wellesley

28) 1857 À`m CR>mdmZ§Va Imbrbn¡H$s H$moUVo n[aUm‘ Pmbo?
A) amUr pìhŠQ>mo[a`mÀ¶m OmhraZmå¶mÛmao {~«{Q>e gÎmoZo/g§gXoZo ^maVmVrb àemgZmMr WoQ> O~m~Xmar ñdrH$mabr.
~) ~§Jmb àm§Vm‘Ü ò Xwhoar gaH$ma gwê$ Pmbo.
n¶m©¶r CÎmao …
1) (A) ’$º$ 2) (~) ’$º$ 3) XmoÝhr (A) Am{U (~) 4) XmoÝhrhr (A) qH$dm (~) Zmhr

28) Which of the following consequences followed the aftermath of the revolt of 1857?

a) Queen Victoria’s Proclamation wherein the British Crown assumed direct responsibility of

administration in India.

b) Dual government in Bengal was introduced.

Answer Options :

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

29) 1860 ‘Ü ò Imbrbn¡H$s H$moUË`m ehamV Am`H$ambm ‘moR>çm à‘mUmda {damoY Pmbm hmoVm?
1) nwUo 2) gwaV 3) ‘w§~B© 4) nm±{S>Moar

29) The mass resistance to income tax took place in which of the following cities in 1860?

1) Pune 2) Surat 3) Mumbai 4) Pondicherry

30) ^maVr` bmoH$m§À¶m H$ë`mUmgmR>r bmoH$‘V EH${ÌV H$aÊ`mgmR>r Imbrbn¡H$s H$moUr b§S>Z‘Ü ò B©ñQ> B§{S>`m Agmo{gEeZMr
ñWmnZm Ho$br?
1) AmZ§X‘mohZ ~mog 2) {^H$mOr H$m‘m 3) XmXm^mB© Zm¡amoOr 4) gwa|ÐZmW ~°ZOu

30) Who among the following organized the East India Association in London to mobilize public opinion

for Indian welfare?

1) Anandmohan Bose 2) Bhikaji Cama 3) Dadabhai Naoroji 4) Surendranath Banerjee

31) Imbrbn¡H$s H$moUmH$S>o ~amh XamoS>çmMr gyÌo hmoVr?
1) ~m[a¨Ð Kmof 2) à’w$„ MmH$s
3) nw{bZ {~hmar Xmg 4) IwXram‘ ~mog
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31) Who among the following organized the sensational Barrah Dacoity ?

1) Barindra Ghosh 2) Praful Chaki

3) Pulin Behari Das 4) Khudiram Bose

32) í`m‘Or H¥$îU d‘m© `m§Zr Ë`m§À`m {dMmam§Mm àgma H$aÊ`mgmR>r Imbrbn¡H$s H$moUVo {Z`VH$m{bH$ gwê$ Ho$bo?
1) B§{S>¶Z BH$m°Zm°{‘ñQ> 2) B§{S>¶Z gmoembm°{OñQ>
3)  B§{S>¶Z ñnoŠQ>°Q>a 4)  B§{S>¶Z Amonr{Z`Z

32) Which of the following periodicals was started by Shyamji Krishna Verma for spreading his ideas?

1) The Indian Economist 2) The Indian Sociologist

3) The Indian Spectator 4) The Indian Opinion

33) bIZm¡ H$ama (1916) ~m~V Imbrbn¡H$s H$moUVo {dYmZ gË` Zmhr?
A) ^maVr` amï´>r` H$m±J«ogÀ`m ‘dmi Am{U Ohmb JQ>m§Zr Ë`m§À¶mVrb ‘V ôX {‘Q>dyZ Q>mH$bo.
~) H$m±J«og Am{U ‘wñcr‘ brJZo, àm{V{Z{YH$ gaH$ma Am{U  dgmhVrMm XOm© {‘i{dÊ¶mÀ`m CÔoemZo g§̀ wº$ `moOZm gmXa$

Ho$br.
H$) H$m±J«ogZo ñdV§Ì ‘VXmam§Mo VÎd ñdrH$mabo.
n¶m©¶r CÎmao …
1) (A) Am{U (~) ’$º$ 2) (A) Am{U (H$) 3) (~) Am{U (H$) 4) ¶mn¡H$s Zmhr

33) Which of the following regarding Lucknow Pact (1916) is NOT true?

a) Moderates and extremist factions of Indian National Congress buried their differences.

b) Congress and Muslim League offered a joint scheme for constitutional reforms with the objective

of representative government and dominion status for India.

c) Congress accepted the principle of separate electorate.

Answer Options :

1) (a) and (b) only 2) (a) and (c) 3) (b) and (c) 4) None of the above

34) Imbrbn¡H$s H$moUVr OmoS>r ~amo~a Owibr Amho?
‘{hbm g§KQ>Zm : C{Ôï>
A) Am°b ~§Jmb dw‘oÝg ẁ{Z`Z : ‘{hbm§À`m ~oH$m`Xoera VñH$ar{déÕÀ¶m H$m`ÚmgmR>r H$m‘ Ho$bo
~) ^maV ór ‘hm‘§S>i : ór {ejUmbm àmoËgmhZ
H$) ~m§{J`m Zmar g‘mO : ‘{hbm§À`m ‘VXmZmÀ`m h¸$mgmR>r àMma Ho$bm
n¶m©¶r CÎmao …
1) (~) Am{U (H$) ’$º$ 2) (A), (~) Am{U (H$)   4) (H$) ’$º$ 4) (A) Am{U (H$)

34) Which of the following pair/s is/are correctly matched?

Women Organisations :  Objective

a) All Bengal Women’s Union : worked for legislation against illicit trafficking of Women

b) Bharat Stree Mahamandal : promoted women’s education

c)  Bangiya Nari Samaj : campaigned for women’s voting rights

Answer Options :

1) (b) and (c) only 2) (a), (b) and (c) 3) (c) only 4) (a) and (c)
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35) ^maVr` ñdmV§Ë«̀  g§J«m‘mXaå`mZ Imbrbn¡H$s H$moUr ’«$s B§{S>`Z {cOZ ZmdmMo g¡Ý` C ô Ho$bo?
1) bmbm haX`mb 2) amg{~hmar ~mog 3) gŵ mfM§Ð ~mog 4) ìhr. S>r. gmdaH$a

35) During the Indian Freedom Struggle who of the following raised an army called "Free Indian Legion"?

1) Lala Hardayal 2) Rash Behari Bose 3) Subhash Chandra Bose 4) VD Savarkar

36) Imbrbn¡H$s H$moUVr OmoS>r ~amo~a Owibr Amho?
A) M§nmaU gË`mJ«h - amO|Ð àgmX
~) IoS>m gË`mJ«h - d„^^mB© nQ>ob
H$) Ah‘Xm~mX {JaUr H$m‘Jma g§KQ>Zm - ‘moamaOr XogmB©
S>) nyZm H$ama- S>m°. ~r. Ama. Am§~oS>H$a
n¶m©¶r CÎmao …
1) (A) Am{U (~) ’$º$ 2) (A), (~) Am{U (H$)
4) (A), (~) Am{U (S>) 4) (A), (~), (H$), (S>)

36) Which of the following pairs are correctly matched ?

a) Champaran Satyagraha - Rajendra Prasad

b) Kheda Satyagraha - Vallabhbhai Patel

c) Ahmedabad Mill Workers Association -Morarji Desai

d) Poona Pact- B. R. Ambedkar

Answer Options :

1) (a) and (b) only 2) (a), (b) and (c) 3) (a), (b) and (d) 4) (a), (b), (c), (d)

37) ^maV N>moS>mo Am§XmobZm~m~V Imbrbn¡H$s H$moUVo {dYmZ gË` Zmhr?
1)Ah‘Xm~mX, gwaV Am{U ~S>moXm eham§‘Ü ò hr Midi ngabr.
2)Ah‘Xm~mX Am{U gmVmè¶m‘Ü ò g‘m§Va "AmPmX gaH$ma' ñWmnZ Pmbo.
3) ‘w§~B© àm§VmÀ¶m {d{dY ^mJmV  {dZm H$a ‘mo{h‘obm gwédmV Pmbr.
4) ^ê$M, gwaV Am{U Zdgmar òWrb J«m‘rU ^mJmV OmVr-dJm©À`m q^Vr Amobm§Sy>Z EH$Vm {Z‘m©U Pmbr, n[aUm‘r  VoWrb

{~«{Q>e amOdQ>rMo ApñVÎd H$mhr H$mi bmon nmdbo.
37) Which of the following statements regarding Quit India Movement is NOT true?

1) The movement spread in cities of Ahmedabad, Surat and Baroda.

2) In Ahmedabad and Satara parallel ‘Azad Government’ was formed.

3) No revenue campaign started in various parts of the Bombay state.

4) In Bharuch, Surat and Navsari, there was rural unity across caste and class lines and British rule, as

a result disappeared for a while.

38) ~hþg§»` ‘wñcr‘ bmoH$g§»`m Agboë`m Imbrbn¡H$s H$moUË`m ̂ maVr` g§ñWmZm§Zr,  gaXma nQ>ob ̀ m§À¶mH$S>o ̂ maVmV gm‘rb
hmoÊ`mMr BÀN>m ì`º$ Ho$br hmoVr, na§Vw gaXmam§Zr Ë`m§Zm nm{H$ñVmZmV gm‘rb hmoÊ`mMm g„m {Xbm H$maU Vo EH$ VÎd{Zð>
amOH$maUr hmoVo?
1) H$bmV Am{U ~hdmbnya 2) qgY Am{U Oå‘y
3) {~bmgnya Am{U H$bmV 4) ~hdmcnya Am{U ^monmi
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38) Which of the following Indian states with majority Muslim population expressed their desire to

Sardar Patel to join India, but the Sardar advised them to join Pakistan since he was a principled

politician and statesman?

1) Kalat and Bahwalpur 2) Sindh and Jammu

3) Bilaspur and Kalat 4) Bahawalpur and Bhopal

39) ìhZm©Š ẁba àog A°ŠQ>, 1878 ~Ôb Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Zmhr?
1) ¶m H$m¶ÚmZwgma X§S>m{YH$mè`mMr H$madmB© A§{V‘ hmoVr Am{U ñWm{ZH$ nÌH$mam§Zm Ý`m`mb`mV Anrb H$aÊ`mMm A{YH$ma

ZìhVm.
2)  ¶m H$m¶ÚmÛmao, {d{dY d§e, OmVr Am{U Y‘m©À`m ì`º$s¨‘Ü ò d¡‘Zñ`mMr ^mdZm OmJ¥V H$aUmar H$moUVrhr Jmoï> àH$m{eV

H$aÊ`mg ñWm{ZH$ àogbm ‘ZmB© Ho$br Jobr.
3) ¶m H$m¶ÚmZo ‘°{OñQóQ>bm gwa{jV R>od O‘m H$aÊ`mMm A{YH$ma {‘imbm Am{U EImÚm àH$meH$mZo ~m±S>Mo C„§KZ

Ho$ë`mg Vr Oá Ho$br OmB©.
4) ^maVr` àog H$m`Xm, 1920 Ûmao Vmo aÔ H$aÊ`mV Ambm.

39) Which of the following statements is not correct about the Vernacular Press Act, 1878?

1) The Magistrate's action was final and the vernacular press had no right of appeal to a court of law.

2) It prohibited vernacular press to publish anything which might rouse feelings of antipathy between

persons of different races, castes and religion.

3) The Magistrate was authorised to deposit a security, which could be confiscated if the printer

violated the Bond.

4) It was repealed by The Indian Press Act, 1920.

40) 1907 gmbr S>m°. ~m~mgmho~ Am§~oS>H$a ‘°{Q´>H$ narjm CÎmrU© Pmbo, Ë¶mdoir Ë¶m§Zm H$moUË¶m {df¶mV Ë¶m§À¶m emio‘Ü¶o gdm©V
OmñV JwU {‘imbo hmoVo ?
1) g§ñH¥$V ^mfm 2) AW©emó 3) n{e©¶Z ^mfm 4) B§J«Or ^mfm

40)  In 1907 Dr. When Babasaheb Ambedkar passed the matriculation examination, in which subject did

he get the highest marks in his school?

1) Sanskrit Language 2) Economics 3) Persian Language 4) English Language

41) ŷH§$nmÀ¶m nr bharg§~§Yr Imbrbn¡H$s H$moUVo {dYmZ/Zo ~amo~a Amho/AmhoV?
A) Ë`m bhmZ Va§Jbm§~rÀ`m bmQ>m AmhoV.
~) Ë`m§Zm AZwVa§J Agohr åhUVmV.
n¶m©¶r CÎmao …
1) (A) ’$º$ 2) (~) ’$º$ 3) XmoÝhr (A) Am{U (~) 4) XmoÝhrhr (A) qH$dm (~) Zmhr

41) Which of the following statement/s regarding seismic  "P" wave is/are correct?

a) They are waves with short wavelength.

b) They are also known as longitudinal waves.

Answer Options :

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)
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42) ŷd¡km{ZH$ Am{U ^m¡Jmo{bH$Ñï²>`m ^maVmVrb gdm©V VéU ŷén .......... ho Amho.
1) {h‘mb` nd©V 2) CÎmaoH$S>rb ‘¡XmZo
3) S>o̧ $Z bmìhm nR>ma 4) ÛrnH$ënr` nR>ma

42) Geologically and Geomorphically the youngest land form in India is _______

1) The Himalayan mountains 2) The Northern plains

3) The Deccan Lava plateau 4) The Peninsular plateau

43) Imbr {Xboë¶m OmoS>çm AMyH$ Owidm :
PrO hmoÊ¶mg H$maH$ ^yén

A) dmam 1. qgH$hmob
~) ½co{eAa 2. am§OU IÈo>
H$) ŷJ^m©Vrb nmUr 3. H«°$J Am{U Q>ob
S>) dmhVo nmUr 4. [anëg
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (2) (3) (4) (1)

2) (3) (1) (2) (4)

3) (4) (2) (1) (3)

4) (4) (3) (1) (2)

43) Match the following columns accurately :

Erosion Agent Landforms

a. Wind 1. Sinkhole

b. Glacier 2. Potholes

c. Underground water 3. Crag and Tail

d. Running water 4. Ripples

Answer Options :

(a) (b) (c) (d)

1) (2) (3) (4) (1)

2) (3) (1) (2) (4)

3) (4) (2) (1) (3)

4) (4) (3) (1) (2)

44) ^m¡Jmo{bH$ KQ>Zm åhUyZ, Eb-{ZZmo ¶mÀ¶mer g§~§{YV Amho .......
A) OJmÀ`m ‘moR>çm joÌm‘Ü ò nmdgmMo ñdê$n ~XbUo
~) g‘wÐmVrb nmÊ`mVrb Vmn‘mZmVrb ’$aH$
H$) dmVmdaUmVrb A{^gaUmVrb C„oIZr` ì`Ë``
n¶m©¶r CÎmao …
1) (A) ’$º$ 2) (A) Am{U (~) ’$º$ 3) (A), (~) Am{U (H$) 4) (~) Am{U (H$) ’$º$
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44) As a geographical phenomenon, the El-Nino is associated with _______ .

a) The shift of rainfall patterns in a large area of the globe

b) The temperature variations in oceanic water

c) The remarkable disturbances in atmospheric circulation

Answer Options :

1) (a) only 2) (a) and (b) only 3) (a), (b) and (c) 4) (b) and (c) only

45) Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Amho/AmhoV?
A) H$m{R>`mdmS> ÛrnH$ën ŷH§$nmÀ`m OmoI‘rÀ`m Vrd«VoÀ`m PmoZ II  ‘Ü ò òVo.
~) H$ÀN> ÛrnH$ën ŷH§$nmÀ`m OmoI‘rÀ`m Vrd«VoÀ`m PmoZ V ‘Ü ò òVo.
H$) ‘hmamï´> amÁ`mMm H$moUVmhr ^mJ ŷH§$nmÀ`m OmoI‘rÀ`m Vrd«VoÀ`m PmoZ V ‘Ü ò òV Zmhr.
n¶m©¶r CÎmao …
1) (~) Am{U (H$) ’$º$ 2) (A), (~) Am{U (H$) 3) (H$) ’$º$ 4) (A) Am{U (H$)

45) Which of the following statement/s is/are correct?

a) Kathiawar peninsula falls in Zone II of earthquake risk intensity.

b) Kachchh peninsula falls in zone V of earthquake risk intensity.

c) Not any part of Maharashtra state falls in Zone V of earthquake risk intensity.

Answer Options :

1) (b) and (c) only 2) (a), (b) and (c) 3) (c) only 4) (a) and (c)

46) gmVnwS>m am§JoV Agboë`m npíM‘oH$Sy>Z nyd}H$S>o Agboë`m Q>oH$S>çm§Mm Imbrbn¡H$s `mo½` H«$‘ H$moUVm?
1) amO{nnbm Q>oH$S>çm, ‘hmXod Q>oH$S>çm, H¡$‘ya Q>oH$S>çm, gmoZnma Q>oH$S>çm
2) amO{nncm Q>oH$S>çm, ‘hmXod Q>oH$S>çm, ‘¡H$b Q>oH$S>çm, amO‘hmb Q>oH$S>çm
3) ‘hmXod Q>oH$S>çm, amO{nncm Q>oH$S>çm, H¡$‘ya Q>oH$S>çm, gmoZnma Q>oH$S>çm
4) amO{nncm Q>oH$S>çm, H¡$‘ya Q>oH$S>çm, ‘hmXod Q>oH$S>çm, amO‘hmb Q>oH$S>çm

46) Which of the following is the correct sequence of the hills from East to West that constitute the

Satpura range?

1) Rajpipala hills, Mahadeo hills, Kaimur hills, Sonpar hills

2) Rajpipala hills, Mahadeo hills, Maikal hills, Rajmahal hills

3) Mahadeo hills, Rajpipala hills, Kaimur hills, Sonpar hills

4) Rajpipala hills, Kaimur hills, Mahadeo hills, Rajmahal hills

47) Imbrbn¡H$s H$moUVo KQ>H$ gmJar àdmhm§da à^md Q>mH$VmV?
A) n¥ÏdrMo n[a «̂‘U ~) hdoMm Xm~ Am{U dmao H$) ‘hmgmJamMr KZVm S>) n¥ÏdrMo n[adbZ
n¶m©¶r CÎmao …
1) (A) Am{U (~) ’$º$ 2) (A) Am{U (H$) ’$º$ 3) (~), (H$) Am{U (S>) 4) (A), (~), (H$) ’$º$

47) Which of the following factors influence the ocean currents?

a) Rotation of the Earth b) Air pressure and wind

c) Density of ocean water d) Revolution of the Earth

Answer Options :

1) (a) and (d) only 2) (a) and (c) only 3) (b), (c) and (d) 4) (a), (b), (c) only
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48) Imbrbn¡H$s H$moUVo ^maVmVrb g§̂ mì` eob J°g ~o{gZ Zmhr?
1) ‘hmZXrMo Imoao 2) H°$å~o Imoao 3) H¥$îUm-JmoXmdar Imoao 4) Xm‘moXa Imoao

48) Which of the following is NOT a prospective shale gas basin in India?

1) Mahanadi basin 2) Cambay basin

3) Krishna-Godavari basin 4) Damodar basin

49) Imbr {Xboë¶m OmoS>çm AMyH$ Owidm :
     Y~Y~m   amÁ¶

A) JmoH$mH$ i. ‘Ü` àXoe
~) gmn ii. PmaI§S>
H$) OmoÝhm iii. Ho$ai
S>) YwdmYma iv. H$Zm©Q>H$
n¶m©¶r CÎmao …
Answer options :

(a) (b) (c) (d)

1) (iv) (ii) (iii) (i)

2) (iv) (iii) (ii) (i)

3) (iii) (iv) (ii) (i)

4) (i) (iv) (ii) (iii)

49) Match the following columns accurately :

Waterfall State

a. Gokak i. Madhya Pradesh

b. Snake ii. Jharkhand

c. Jonha iii.Kerala

d. Dhuandhar iv.Karnataka

Answer options :

(a) (b) (c) (d)

1) (iv) (ii) (iii) (i)

2) (iv) (iii) (ii) (i)

3) (iii) (iv) (ii) (i)

4) (i) (iv) (ii) (iii)

50) ^maVmVrb c°Q>oamB©Q> ‘mVr~m~V Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
A) hr ‘mVr gm‘mÝ`V… bmb a§JmMr AgVo.
~) hr ‘mVr Zm`Q´moOZ Am{U nmoQ>°eZo g‘¥Õ Amho.
H$) hr ‘mVr amOñWmZ Am{U CÎma àXoe‘Ü ò Mm§Jbo {dH${gV Amho.
S>) Q>°{nAmoH$m Am{U H$mOy  hr nrHo$ `m ‘mVrV Mm§Jbr dmT>VmV.
n¶m©¶r CÎmao …
1) (A) Am{U (~) ’$º$ 2) (A), (~) Am{U (H$) 3) (A) Am{U (S>) 4) (A), (~), (H$), (S>)
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50) Which of the following statements regarding laterite soils of India are correct?

a) They are generally red in color.

b) They are rich in Nitrogen and Potash.

c) They are well-developed in Rajasthan and Uttar Pradesh.

d) Tapioca and cashew nuts grow well on these soils.

Answer Options :

1) (a) and (b) only 2) (a), (b) and (c) 3) (a)  and (d) 4) (a), (b), (c), (d)

51) Imbr {Xboë¶m OmoS>çm AMyH$ Owidm :
A) ‘§Jbm{Jar gmS>r 1. Am§Y« àXoe
~) h~gnwar gmS>r 2. Amo{S>em
H$) H$modB© H$moam gmS>r 3. ‘hmamï´>
S>) n¡R>Ur gmS>r 4. Vm{‘iZmSy>
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (1) (3) (4) (2)

2) (3) (1) (2) (4)

3) (2) (1) (3) (4)

4) (1) (2) (4) (3)

51) Match the following columns accurately :

A. Mangalagiri sari 1. Andhra Pradesh

B. Habaspuri sari 2. Odisha

C. Kovai Cora sari 3. Maharashtra

D. Paithani sari 4. Tamilnadu

Answer Options :

(a) (b) (c) (d)

1) (1) (3) (4) (2)

2) (3) (1) (2) (4)

3) (2) (1) (3) (4)

4) (1) (2) (4) (3)

52) ^maVmVrb Imbrbn¡H$s H$moUË`m àXoemV Ima’w$Q>rMo O§Jb, gXmh[aV O§Jbo Am{U nmZPS>r O§Jbo hr gd© AmhoV?
1) CÎma {H$Zmar Am§Y« àXoe 2) X{jU n{l²M‘ ~§Jmb
3) X{jU gm¡amï´> 4) A§X‘mZ Am{U {ZH$mo~ma ~oQ>o

52) Which of the following regions of India has a combination of Mangrove forest, evergreen forest, and

deciduous forests?

1) North Coastal Andhra Pradesh 2) South West Bengal

3) Southern Saurashtra 4) Andaman and Nicobar Islands
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53) Imbrbn¡H$s H$moUVr OmoS>r MwH$sÀ`m nÕVrZo Owibr Amho?
1) {‘Mu Am{U V§~mIy eoVr - Jw§Qw>a 2) aob H$moM H$maImZm - H$nyaWim
3) bmoH$mo‘mo{Q>ìh d³g© - {MÎma§OZ 4) ìho{Zg Am°’$ B§{S>`m - H$Ý`mHw$‘mar

53) Which of the following pairs is incorrectly matched?

1) Mirchi and Tobacco farming - Guntur 2) Rail Coach factory - Kapurthala

3) Locomotive works - Chittaranjan 4) Venice of India - Kanyakumari

54) ^maVmVrc Imcrc VocewÕrH$aU H|$Ðm§Mr npíM‘oH$Sy>Z nyd}H$S>o ‘m§S>Ur H$am d Imcr {Xcoë¶m n¶m©¶m§‘YyZ ¶mo½¶ CÎma {ZdS>m.
a) H$mo¶mcr b) ~mo§JmB©Jmd c) ‘Wwam d) Zw‘crJS>
n¶m©¶r CÎmao …
1) b - c - d -a 2) a - b - c - d 3) a - c - b - d  4) d - b - c - a

54) Arrange the following oil refineries of India from West to East and select the correct answer using

the options given below :

a) Koyali b) Bongaigaon c) Mathura d) Numaligarh

Answer Option :

1) b - c - d -a 2) a - b - c - d 3) a - c - b - d  4) d - b - c - a

55) Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Amho/AmhoV?
A) AmO OJmVrb 55% bmoH$g§»`m ehar ^mJmV amhVo.
~) OJmVrb 54% ehar bmoH$g§»`m Am{e`m‘Ü ò Amho.
H$) Am{’«$H$m ‘w»`V… J«m‘rU Amho, Ë¶m I§S>mVrb 43% bmoH$g§»`m ehar ^mJmV amhVo.
n¶m©¶r CÎmao …
1) (~) Am{U (H$) ’$º$ 2) (A), (~) Am{U (H$) 4) (H$) ’$º$ 4) (A) Am{U (H$)

55) Which of the following statement/s is/are correct?

a) Today, 55% of the world’s population lives in urban areas.

b) Asia is home to 54% of the world’s urban population.

c) Africa remains mostly rural, with 43% of its population living in urban areas.

Answer Options :

1) (b) and (c) only 2) (a), (b) and (c) 3) (c) only 4) (a) and (c)

56) {Z`moOZ Am`moJmÀ`m {e’$maetda AmYm[aV, ^maVmV gÜ`m gwê$ Agbobr "AmYma' ššš¶§ÌUm hr ....... da/gmR>r H$m¶©aV
Amho.
A) ‘ëQ>r-A°pßbHo$eZ S>oQ>m     ~) qgH«$moZmBPS> S>oQ>m H$mS>©      H$) g§b¾ ñ‘mQ>© H$mS>©
n¶m©¶r CÎmao …
1) (A) Am{U (~) ’$º$ 2) (A) Am{U (H$) ’$º$ 3) (~) Am{U (H$) 4) ¶mn¡H$s Zmhr

56) The ongoing ‘Aadhaar’ scheme of India is based on the recommendations of the Planning Commission

for _________

a) Multi-Application Data  b) Synchronized Data Card    c) Collateral Smart Card

Answer Options :

1) (a) and (b) only 2) (a) and (c) 3) (b) and (c) 4) None of these
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57) Xwhoar VyQ> g‘ñ`m Agboë¶m XoemV ........... AgVo.
1) Cƒ {dÎmr` VyQ> Am{U Cƒ Mmby ImË`mVrb VyQ> 2) Cƒ {dÎmr` VyQ> Am{U Cƒ ‘hgwbr VyQ>
3) Cƒ {dÎmr` VyQ> Am{U Cƒ àemgH$s` VyQ> 4) Cƒ {dÎmr` VyQ> Am{U Cƒ àmW{‘H$ VyQ>

57) The twin deficit problem means a country having _______

1) High fiscal deficit and high current account deficit

2) High fiscal deficit and high revenue deficit

3) High fiscal deficit and high governance deficit

4) High fiscal deficit and high primary deficit

58) eoVH$è¶m§Mo CËnÞ XwßnQ> H$aÊ`mÀ`m C{Ôï>mg§X^m©V Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Zmhr?
A) ¶mgmR>rMo bú` df© 2022-23 ho Amho
~) ¶m A§VJ©V eoVH$è¶m§Mo dmñV{dH$ CËnÞ ho XwßnQ> H$amd¶mMo Amho
H$) ¶m A§VJ©V Ho$di bmJdS>rVyZ {‘iUmao eoVH$è¶m§Mo CËnÞ XwßnQ> H$am`Mo Amho
S>) ho C{Ôï> gmÜ` H$aÊ`mgmR>r eoVrÀ`m {d{dYrH$aUmbm MmbZm XoUo Ano{jV Amho.
n¶m©¶r CÎmao …
1) (A) Am{U (~) ’$º$ 2) (H$) ’$º$ 3) (~), (H$) Am{U (S>) 4) (A), (~), (H$), (S>)

58) Which of the statements is / are NOT correct in context of doubling the farmers’ income objective?

a) The target year is 2022-23

b) It is real income which is to be doubled

c) Income from cultivation alone is to be doubled

d) Diversification of agriculture is to be promoted to achieve this objective

Answer Options :

1) (a) and (b) only 2) (c) only 3) (b), (c) and (d) 4) (a), (b), (c), (d)

59) Z°eZb ñ‘m°b gopìh§½O ’§$S> (NSSF) ~m~V Imbrbn¡H$s H$moUVo/Vr {dYmZ/Zo ~amo~a Amho/AmhoV?
A) gd© bhmZ ~MVr ^maVmÀ`m EH${ÌV {ZYr‘Ü ò O‘m Ho$ë¶m OmVmV.
~) NSSF A§VJ©V AgUmè¶m ì`dhmam§Mm H|$ÐmÀ`m {dÎmr` VwQ>rda WoQ> n[aUm‘ hmoV Zmhr.
n¶m©¶r CÎmao …
1) (A) ’$º$ 2) (~) ’$º$ 3) XmoÝhr (A) Am{U (~) 4) XmoÝhrhr (A) qH$dm (~) Zmhr

59) Which of the following statements regarding National Small Savings Fund (NSSF) is/are correct?

a) All small savings collections are credited to the Consolidated Fund of India.

b) The transactions under NSSF do not impact the fiscal deficit of the Centre directly.

Answer Options :

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

60) {d{dY Xoem§‘Yrb Am{W©H$ EH$mË‘VoÀ`m à{H«$ òVrb Imbrbn¡H$s `mo½` H«$‘ H$moUVm?
1) gm‘m{`H$ ~mOma - ‘wº$ ì`mnma joÌ- Am{W©H$ g§K- gr‘mewëH$ g§K/H$ñQ>‘ ẁ{Z`Z
2) ‘wº$ ì`mnma joÌ - gm‘m{`H$ ~mOma - gr‘mewëH$ g§K/H$ñQ>‘ ẁ{Z`Z - Am{W©H$ g§K
3) gm‘m{`H$ ~mOma - ‘wº$ ì`mnma joÌ - gr‘mewëH$ g§K/H$ñQ>‘ ẁ{Z`Z - BH$m°Zm°{‘H$ ẁ{Z`Z
4) ‘wº$ ì`mnma joÌ - gr‘mewëH$ g§K/H$ñQ>‘ ẁ{Z`Z - gm‘m{`H$ ~mOma  - Am{W©H$ g§K
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60) Which of the following is the correct sequence in the process of economic integration between

different countries?

1) Common market-free trade area- economic union –custom union

2) Free trade area- common market- custom union- economic union

3) Common market- free trade area- custom union-economic union

4) Free trade area- custom union- common market- economic union

61) Imbrbn¡H$s H$moUVo MbZ Ad‘yë`ZmMo g§̂ mì` n[aUm‘ AmhoV/AmhoV?
A) naH$s` MbZ ~mOmamVrb MbZmÀ`m ‘yë`mV Pmbobr KgaU.
~) Cƒ {Z`m©V ñnYm©Ë‘H$Vm
H$) Cƒ ‘hmJmB©
S>) Am`mV IMm©V dmT>.
n¶m©¶r CÎmao …
1) (A) Am{U (~) ’$º$ 2) (A), (~) Am{U (H$) 3) (A), (H$) Am{U (S>) 4) (A), (~), (H$), (S>)

61) Which of the following is/are the likely implication/s of currency devaluation?

a) The decline in value of the currency in forex markets.

b) Higher export competitiveness

c) Higher inflation

d) Rise in cost of imports.

Answer Options :

1) (a) and (b) only 2) (a), (b) and (c) 3) (a), (c) and (d) 4) (a), (b), (c), (d)

62) Imbr {Xboë¶m OmoS>çm AMyH$ Owidm :
1) ^maVmMm g§{MV {ZYr A. AZno{jV IM©
2) AmH$pñ‘H$Vm {ZYr ~. gd© ‘hgwbr O‘m, H$O©C^maUr Am{U H$O©dgwbr
3) gmd©O{ZH$ ImVo H$. Am°naoeZb IM© nyU© H$aÊ`mgmR>r EH$aH$‘r AZwXmZ
4) boImZwXmZ S>. ^{dî` {Zdm©h {ZYr, bKw ~MVr Am{U BVa R>odtÛmao O‘m
n¶m©¶r CÎmao …
Answer Options :

(1) (2) (3) (4)

1) (b) (a) (c) (d)

2) (b) (a) (d) (c)

3) (d) (c) (b) (a)

4) (c) (d) (a) (b)

62) Match the following columns accurately :

1) Consolidated Fund of India a. Unforeseen expenditure

2) Contingency Fund b. All revenue receipts, loans raised and recovery of loans

3) Public Account c. Lumpsum grant to meet operational expenditure

4) Vote on Account d. Receipts through Provident Fund, small savings and other

   deposits



( 21 )

Answer Options :

(1) (2) (3) (4)

1) (b) (a) (c) (d)

2) (b) (a) (d) (c)

3) (d) (c) (b) (a)

4) (c) (d) (a) (b)

63) AmYma ŷV qH$‘V `moOZoA§VJ©V Imbrbn¡H$s H$moUVr nrHo$ IaoXr Ho$br OmVmV?
A) H$S>YmÝ ò ~) ~mJm`Vr {nHo$ H$) Vob{~`m S>) H$mnyg
n¶m©¶r CÎmao …
1) (A) Am{U (~) ’$º$ 2) (A), (~) Am{U (H$) 3) (A), (H$) Am{U (S>) 4) (A), (~), (H$), (S>)

63) Which of the following items are procured under the Price Support Scheme?

a) Pulses b) Horticulture crops c) Oilseeds d) Cotton

Answer Options :

1) (a) and (b) only 2) (a), (b) and (c) 3) (a), (c) and (d) 4) (a), (b), (c), (d)

64) Ag§K{Q>V H$m‘Jmam§gmR>r ñdmdb§~Z noÝeZ `moOZm ............ ‘Ü ò {dbrZ H$aÊ`mV Ambr Amho.
1) àYmZ‘§Ìr OrdZ Á`moVr {d‘m `moOZm 2) àYmZ‘§Ìr C‚dbm `moOZm
3) AQ>b noÝeZ `moOZm 4) amï´>r` Hw$Qw>§~ bm^ `moOZm

64) The Swavalamban Pension Scheme for the unorganized workers has been merged with _______

1) Pradhan Mantri Jeevan Jyoti Bima Yojana 2) Pradhan Mantri Ujjwala Yojana

3) Atal Pension Yojana 4) National Family Benefit Scheme

65) Imbr {Xboë¶m OmoS>çm AMyH$ Owidm :
1. {dÎmr` YmoaU A) ‘m{O©Z ‘Zr
2. nV YmoaU ~) ~±H$ Xa
3. MbZ{df`H$ YmoaU H$) H$a Xa
4. EpŠP‘ nm°{bgr S>) {d{Z‘` Xa
n¶m©¶r CÎmao …

(1) (2) (3) (4)

1) (a) (b) (c) (d)

2) (c) (a) (b) (d)

3) (d) (c) (b) (a)

4) (c) (d) (a) (b)

65) Match the following columns accurately :

1. Fiscal Policy a) Margin Money

2. Credit Policy b) Bank rate

3. Monetary Policy c) Tax rate

4. Exim Policy d) Exchange rate
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Answer Options :

(1) (2) (3) (4)

1) (a) (b) (c) (d)

2) (c) (a) (b) (d)

3) (d) (c) (b) (a)

4) (c) (d) (a) (b)

66) Imbrbn¡H$s H$moUVo {dYmZ "~oamoOJma gmnim' `m g§koMo AMyH$ dU©Z H$aVo?
1) ‘O~yV Am{W©H$ dmT> AgyZhr amoOJma dmT>rV KQ>.
2) H$m‘Jma g‘yhmV gm‘rb hmoÊ`mg ~oamoOJma ì¶º$s BÀNw>H$ Zgë`mMr n[apñWVr.
3) ~hþg§»` H$m‘Jma H$‘r nJmamÀ`m Ag§K{Q>V joÌmV H$m‘ H$aVmV Aer n[apñWVr.
4) amoOJmamÀ`m ~mOmanoR>oV àdoe H$aUmè`m bmoH$m§À`m g§» ònojm ZmoH$è`m§Mr g§»`m H$‘r Agë¶mMr pñWVr

66) Which of the following correctly describes the term ‘Unemployment Trap’?

1) Fall in employment growth despite robust economic growth.

2) The situation where unemployed people are unwilling to join the labour force.

3) The situation where the majority of workers are employed in the low paying unorganised sector.

4) The situation where number of jobs created is less than the number of people entering the job

market.

67) {d{dY g{‘Ë`m§Zr A§XmO Ho$ë`mZwgma ^maVmVrb ~rnrEb bmoH$g§» òÀ`m g§X^m©V Imbrb OmoS>çm Owidm.
g{‘Vr ~rnrEb bmoH$g§»`m

A) V|Sw>bH$a g{‘Vr 1.  50%
~)  EZgr gŠgoZm g{‘Vr 2.  77%
H$) AOw©Z goZJwám g{‘Vr 3.  37%
S>) bH$S>mdmbm g{‘Vr 4. 28%
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (3) (2) (4) (1)

2) (3) (2) (1) (4)

3) (2) (1) (4) (3)

4) (1) (3) (2) (4)

67) Match the following in reference to the BPL population in India as projected by the different

committees.

Committee BPL Population

a.  Tendulkar Committee 1.  50%

b.  NC Saxena Committee 2.  77%

c.  Arjun Sen Gupta Committee 3.  37%

d. Lakadawala Committee 4. 28%
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Answer Options :

(a) (b) (c) (d)

1) (3) (2) (4) (1)

2) (3) (2) (1) (4)

3) (2) (1) (4) (3)

4) (1) (3) (2) (4)

68) EH$mpË‘H$ ~mb {dH$mg godm H$m¶©H«$‘m (ICDS) ~m~V Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
A) 0 Vo 6 d`moJQ>mVrb ‘wbm§Mr nmofU Am{U Amamo½` pñWVr gwYmaUo.
~) `m `moOZoV JamoXa Am{U ñVÝ¶Xm ‘mVm§Mm g‘mdoe Amho.
H$) `m `moOZo A§VJ©V ’$º$ 0 Vo 2 df} d`moJQ>mVrb ‘wbm§ZmM H$ìha Ho$bo OmVo.
S>) ICDS H$m ©̀H«$‘ 1975 ‘Ü ò gwê$ H$aÊ`mV Ambm.
n¶m©¶r CÎmao …
1) (A) Am{U (~) ’$º$ 2) (A), (~) Am{U (S>) 3) (A), (H$) Am{U (S>) 4) (A), (~), (H$), (S>)

68) Which of the following statements are correct regarding the Integrated Child Developement Services

(ICDS) ?

a) Improve the nutritional and health status of children in the age group of 0 to 6 years.

b) The scheme covers pregnant and lactating mothers.

c) Only children belonging to the age group of 0 to 2 years are covered

d) ICDS programme was launched in 1975

Answer Options :

1) (a) and (b) only 2) (a), (b) and (d) 3) (a), (c) and (d) 4) (a), (b), (c), (d)

69) ^maV gaH$maÀ`m gmJa‘mbm CnH«$‘m~m~V Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Amho/AmhoV?
A) 7,500 {H$‘r bm§~ {H$Zmam, 14,500 {H$‘r g§̂ mì` Ob‘mJ© Am{U ‘hÎdmÀ`m Am§Vaamï´>r` gmJar ì`mnma ‘mJmªdarb

^maVmÀ¶m YmoaUmË‘H$ ñWmZm§Mm dmna H$ê$Z ~§Xam§À¶m {dH$mgmbm MmbZm XoUo ho `m CnH«$‘mMo C{Ôï> Amho.
~) gmJa‘mbm H$m ©̀H«$‘m§VJ©V {ZpíMV Pmboë¶m àH$ënm§gmR>r, gmJa‘mbm S>oìhbn‘|Q> H§$nZr  (SDC) Ûmao B{¹$Q>r g‘W©Z
H$) gmJa‘mbm àH$ënm§Mr A§‘b~OmdUr H$aÊ¶mMr O~m~Xmar ’$º$ OhmO~m§YUr ‘§Ìmb`mH$S>o Amho.
n¶m©¶r CÎmao …
1) (A) Am{U (~) ’$º$ 2) (A) Am{U (H$) 3) (~) Am{U (H$) 4) (A), (~), (H$) ’$º$

69) Which of the following statements is/are correct regarding Government of India’s Sagarmala initiative?

a) The initiative aims at promoting port-led development by harnessing the country’s 7, 500-km-

long coastline, 14,500 km of potentially navigable waterways and strategic locations on key

international maritime trade routes.

b) Sagarmala Development Company (SDC) will provide equity support for projects identified under

Sagarmala programme.

c) The implementation of the Sagarmala projects is done solely by the Ministry of Shipping.

Answer Options :

1) (a) and (b) only 2) (a) and (c) 3) (b) and (c) 4) (a), (b) and (c)
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70) GST ~m~V Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Amho?
A) {dO` Ho$iH$a `m§À`m AÜ`jVoImbrb Q>mñH$ ’$mog©Zo OrEgQ>r bmJy H$aÊ`mMm ‘mJ© ‘moH$im Ho$bm
~) OrEgQ>rZo OdiOdi gd© AàË`j H$am§Mr OmJm KoVbr Amho.
n¶m©¶r CÎmao …
1) (A) ’$º$ 2) (~) ’$º$ 3) XmoÝhr (A) Am{U (~) 4) XmoÝhrhr (A) qH$dm (~) Zmhr

70) Which of the following statements is correct regarding to GST?

a) The task force under the chairmanship of Vijay Kelkar paved the way for implementing GST

b) GST has replaced almost all indirect taxes.

Answer Options :

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)

71) Imbrbn¡H$s H$moUVo {dYmZ, namdV©ZmÀ¶m {Z¶‘m§Zwgma A§Vd©H«$ AmaemÀ¶m {H$aUmH¥$Vr H$mT>Ê¶mgmR>r Cn¶wº$ Amho?
A) Oa AmnmVr {H$aU ‘w»¶ Ajmbm g‘m§Va Agob Va namd{V©V {H$aU Zm^rVyZ OmVmV.
B) Oa AmnmVr {H$aU Zm^rVyZ OmV Agob Va namd{V©V {H$aU ‘w»¶ Ajmbm g‘m§Va AgVmV.

¶mo½¶ n¶m©¶ {ZdS>m …
1) {dYmZ (A) Am{U (B) XmoÝhrhr gË¶ AmhoV.
2) {dYmZ (A) gË¶ AgyZ (B) AgË¶ Amho.
3) {dYmZ (A) AgË¶ AgyZ (B) gË¶ Amho.
4) {dYmZo (A) d (B) XmoÝhrhr AgË¶ AmhoV.

71) Which of the following statement is correct according to the laws of reflections for drawing ray

diagrams of a concave mirror ?

A)If the incident ray is parallel to the principal axis then the reflected ray passes through the focus.

B)If the incident ray is passing through the focus then the reflected ray is parallel to the principal

axis.

Answer Options :

1) Statement (A) and (B) both are correct. 2) Statement (A) is correct and (B) is wrong.

3) Statement (A) is wrong and (B) is correct. 4) Statement (A) and (b) both are wrong.

72) q’$JaqàQ> ñH°$qZJ ì`{V[aº$, Imbrbn¡H$s H$moUVo V§ÌkmZ ì`º$sÀ`m ~m`mo‘o{Q´H$ VnmgUrgmR>r dmnabo OmD$ eH$Vo?
A) Am`[ag ñH°$qZJ ~) ao{Q>Zb ñH°$qZJ H$) AmdmO AmoiI
n¶m©¶r CÎmao …
1) (~) Am{U (H$) ’$º$ 2) (A), (~) Am{U (H$) 4) (H$) ’$º$ 4) (A) Am{U (H$)

72) In addition to fingerprint scanning, which of the following can be used in the biometric identification

of a person?

a) Iris scanning b) Retinal scanning c) Voice recognition

Answer Options :

1) (b) and (c) only 2) (a), (b) and (c) 3) (c) only 4) (a) and (c)
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73) {nH$mdarc ŵar amoJmÀ¶m {Z¶§ÌUmgmR>r H$moUË¶m H$sQ>H$ZmeH$mMm dmna H$aVmV?
a) ~moS>m} {‘lU b) gë’$a (J§YH$) c) EÝS>mogë’$m°Z d) VwaQ>r
darbn¡H$s H$moUVm n¶m©¶ / n¶m©¶o ~amo~a AmhoV?
1) (a) Am{U (b) ’$º$ 2) (b) ’$º$ 3) (c) ’$º$ 4) (d) ’$º$

73) Which pesticide is used to control powdery mildew?

a) Bordo mixture b) Sulphur c) Endosulphon d) Alum

Which of the option given above is / are correct?

1) (a) and (b) only 2) (b) only 3) (c) only 4) (d) only

74) Imbrbn¡H$s H$moUVr OmoS>r ~amo~a Owibr Amho?
A) OS> nmUr - EH$ qH$dm A{YH$ S>çwQ>o[a`‘ AUy§er OmoS>boë`m Am°pŠgOZnmgyZ ~Zdbo OmVo.
~) {’$gmBb ‘Q>o[aAb - H$moUË`mhr nyd©ê$nm§VaUmMr JaO Zmhr.
H$) {dI§S>Z`mo½` gm{hË` - AUw{dI§S>Z hmoÊ`mnydu Ë`mMo ê$nm§VaU Amdí`H$ Amho.
S>) W‘©b [aA°ŠQ>a - `m AUŵ Q²>Q>çm gmIir A{^{H«$`m H$aÊ`mgmR>r doJdmZ Ý ỳQ´m°ZMm dmna H$aVmV.
n¶m©¶r CÎmao …
1) (A) Am{U (~) ’$º$ 2) (A) Am{U (H$) ’$º$ 3) (A), (H$) Am{U (S>) 4) (A), (~), (H$), (S>)

74) Which of the following pairs are correctly matched?

a) Heavy Water - It is made from oxygen bonded to one or more deuterium atoms.

b) Fissile materials - It does not require any prior conversion.

c) Fissionable Materials - It requires conversion before undergoing nuclear fission.

d) Thermal Reactor - These reactors make use of fast moving neutrons to undertake the chain reaction.

Answer Options :

1) (a) and (b) only 2) (a) and (c) only 3) (a), (c) and (d) 4) (a), (b), (c), (d)

75) emH©$ ‘mem~m~V Imbrbn¡H$s ¶mo½¶ Vmo n¶m©¶ {ZdS>m …
a) AYa ~mOyg ‘wI b) Oam¶wO c) gm¶³bm°B©S> Idbo d) H$mñWr‘¶ A§V…H§$H$mb
n¶m©¶r CÎmao …
1) (a), (b) Am{U (d) 2) ’$º$ (a) Am{U (c) 3) ’$º$ (b) Am{U (d) 4) ’$º$ (d)

75) Choose the correct alternative about the shark :

a) Mouth on ventral side b) Viviparity

c) Cycloid scales d) Cartilaginous endoskeletion

Answer Options :

1) (a), (b) and (d) 2) (a) and (c) only 3) (b) and (d) only 4) Only (d)

76) Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
A) à{VO¡{dH$m§Zm à{Vgyú‘Ord Am¡fYo Ago XoIrb åhUVmV.
~) A±coŠPm§S>a âboq‘J `m§Zr n{hbo à{VO¡{dH$ emoYbo.
H$) A±{Q>~m`mo{Q>Šg {dfmUyOÝ` g§gJm©da n[aUm‘H$maH$ ZmhrV.
S>) no{Z{g{bZ ho OJmVrb n{hbo à{VO¡{dH$ Amho.
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n¶m©¶r CÎmao …
1) A, ~, H$, S> 2) A, ~, H$ ’$º$ 3) A, H$ ’$º$ 4) ~, H$, S> ’$º$

76) Which of the following statements are correct?

a) Antibiotics also known as antimicrobial drugs.

b) Alexander Fleming discovered the first antibiotic.

c) The antibiotics are not effective against viral infections.

d) Penicillin is the first antibiotic in the world.

Answer Options :

1) a, b, c, d 2) a, b, c, only 3) a, c only 4) b, c, d only

77) pìhQ>°{‘Z S>r g§l²bofUm~Ôb Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
A) AëQ´mìhm`moboQ> àH$memÛmao pìhQ>°{‘Z S>r ‘mZdr ËdMo‘Ü ò V`ma hmoVo.
~) pìhQ>°{‘Z S>r Mr Cƒ nmVir Cƒ {dH¥$Vr/‘m°{~©S>rQ>rer g§~§{YV Amho.
H$) OmñV à‘mUmV pìhQ>°{‘Z S>r V`ma H$aÊ`mnmgyZ gỳ ©àH$membm amoIÊ`mgmR>r ‘mZdr earamV H$moUVrhr §̀ÌUm Zmhr.
n¶m©¶r CÎmao …
1) (~) Am{U (H$) ’$º$ 2) (A), (~) Am{U (H$) 4) (H$) ’$º$ 4) (A) Am{U (~)

77) Which of the following statements are correct about Vitamin D Synthesis?

a) Vitamin D is produced in the skin by ultraviolet light.

b)  Higher levels of Vitamin D are associated with higher morbidity.

c)  Body has no mechanism to prevent sunlight from producing too much Vitamin D.

Answer Options :

1) (b) and (c) only 2) (a), (b) and (c) 3) (c) only 4) (a) and (b)

78) Imbrbn¡H$s H$moUVo/Vr {dYmZ/Zo gË` Amho/AmhoV ?
A) CÚmoJmV O¡dV§ÌkmZmMm dmna nm§T>ao O¡dV§ÌkmZ åhUyZ AmoiIbo OmVo, Vo Am¡Úmo{JH$ à{H«$`m gwYmaÊ`mg Am{U ZdrZ

CËnmXZo V`ma H$aÊ`mg ‘XV H$aVo.
~) ãby ~m`moQ>oŠZm°bm°Or hr D$O}Mo ZdrZ òmoV {Z‘m©U H$aÊ`mgmR>r Am{U ZdrZ Am¡fYo {dH${gV H$aÊ`mgmR>r Obr`

n[ag§ñWoer g§~§{YV Amho.
n¶m©¶r CÎmao …
1) (A) ’$º$ 2) (~) ’$º$ 3) XmoÝhr (A) Am{U (~) 4) XmoÝhrhr (A) qH$dm (~) Zmhr

78) Which of the following statements is/are correct?

a) The use of Biotechnology in industry is regarded as white biotechnology, it helps to improve

industrial process and create new products.

b) Blue biotechnology deals with aquatic environment to generate new sources of energy and develop

new drugs.

Answer Options :

1) (a) only 2) (b) only 3) Both (a) and (b) 4) Neither (a) nor (b)
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79) ‘oqZOm`Q>rg~m~V Imbrbn¡H$s H$moUVo/Vr {dYmZ/Zo gË` Amho/AmhoV ?
A) hm EH$ Xw‘ui g§gJ©OÝ¶ amoJ AgyZ Vmo ‘|Xy Am{U ‘‚mma‚my ¶m§À¶mdarb AmdaUm (‘oqZ{Og) da n[aUm‘ H$aVmo.
~) {OdmUy, ~waer, {dfmUy ho ‘oqZOm`Q>rgMo H$maH$ KQ>H$ AmhoV
H$) ~°³Q>o[aAb ‘oqZOm`Q>rg hm A{YH$ g§gJ©OÝ` Amho Am{U Ë¶m‘wio é½UmMm ‘¥Ë ỳ hmoD$ eH$Vmo
n¶m©¶r CÎmao …
1) (A) ’$º$ 2) (A) Am{U (~) ’$º$ 3) (A), (~) Am{U (H$) 4) (~) Am{U (H$) ’$º$

79) Which of the following statements is/are correct regarding Meningitis?

a) It is a rare infection that effect meninges layer which covers brain and spinal cord

b) Bacteria, Fungi, Virus are the causing agents of meningitis

c) Bacterial meningitis is more contagious among the people and can cause death

Answer Options :

1) (a) only 2) (a) and (b) only 3) (a), (b) and (c) 4) (b) and (c) only

80) Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV/AmhoV?
1) {‘WoZm°b‘Ü ò noQ´mob, {S>Pob B. gma»`m {dÚ‘mZ B§YZm§Mr OmJm KoÊ`mMr j‘Vm Amho
2) {‘WoZm°b J°gmobrZ‘Ü ò {‘gibo OmD$ eH$Vo qH$dm dmhVyH$ joÌmV Vo J°gmobrZbm n¶m©¶ R>ê$ eH$Vo
3) BWoZm°b ho ‘H$m Am{U BVa dZñnVrnmgyZ ~Zdbobo EH$ Aj` B§YZ Amho.
4) {‘WoZm°b Am{U BWoZm°b‘Ü ò ’$aH$ Zmhr
n¶m©¶r CÎmao …
1) A, ~, H$, S> 2) A, ~, H$ ’$º$ 3) A, H$ ’$º$  4) ~, H$, S> ’$º$

80) Which of the following statements is/are correct?

1)  Methanol has the potential to replace existing fuels such as petrol, Diesel etc

2)  Methanol can be blended with gasoline or can substitute gasoline in transportation

3)  Ethanol is a renewable fuel made from corn and other plant materials.

4)  There is no difference between Methanol and Ethanol

 Answer options :

1) a, b, c, d 2) a, b, c, only 3) a, c only 4) b, c, d only

81) H$mMoÀ`m n°ZobÀ`m H$mR>mbm {hadm a§J XoUmar H$mMoVrb AewÕVm hr ......... ¶m agm¶Zm‘wio Amho.
1) {g{bH$m 2) H$mo~mëQ> Am°ŠgmB©S> 3$) bmoI§S> 4) Am`Z© Am°ŠgmB©S>

81) The impurity in glass which gives the edge of glass sheet a greenish colour is ........

1) Silica 2) Cobalt Oxide 3) Iron 4) Iron Oxide

82) Imbrbn¡H$s H$moUVr OmoS>r ~amo~a Owibr/Amho?
1) am‘Z B’o$ŠQ> - àH$me hm ’$moQ>m°Z åhUyZ AmoiIë`m OmUmè¶m H$Um§Mm ~Zbobm Amho ho {gÕ Pmbo
2) OJXre M§Ð ~mog - H«o$ñH$moJ«m’$Mm emoY bmdbm
3) hmo‘r Ohm§Jra ^m^m - AUwD$Om© Am`moJmMo n{hbo AÜ`j
4) grEZAma amd - ^m¡{VH$emómÀ`m joÌmVrb `moJXmZm~Ôb ^maVaËZ
n¶m©¶r CÎmao …
1) A, ~, H$, S> 2) A, ~, H$ ’$º$ 3) A, H$ ’$º$  4) ~, H$, S> ’$º$
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82) Which of the following pairs is/are correctly matched?

1. Raman Effect – proved that light is made up of particles known as photons

2. Jagadish Chandra Bose – invented Crescograph

3. Homi Jahangir Bhaba – First Chairman of Atomic Energy Commission

4. CNR Rao – received Bharat Ratna for his contributions in the field of Physics

Answer Options :

1) a, b, c, d 2) a, b, c, only 3) a, c only 4) b, c, d only

83) Imbrbn¡H$s H$moUVo/Vr {dYmZ/Zo gË` Amho/AmhoV ?
i. Š ẁar Vmn‘mZ ho Ago Vmn‘mZ Amho H$s Á`mÀ`m daÀ¶m Vmn‘mZmg Mw§~H$s` nXmW© Ë`m§Mo ’o$amo‘°¾o{Q>H$ JwUY‘© J‘mdVmV.
ii. Š ẁar Vmn‘mZ ho Ago Vmn‘mZ Amho H$s Á`mÀ`m daÀ¶m Vmn‘mZmg Zm°Z-Mw§~H$s` nXmW© ’o$amo‘°¾o{Q>H$ JwUY‘© {‘idVmV
n¶m©¶r CÎmao …
1) ’$º$ (i) 2) ’$º$ (ii) 3) XmoÝhr (i) Am{U (ii) 4) XmoÝhrhr (i) qH$dm (ii) Zmhr

83) Which of the following statements are true?

i. Curie temperature is the temperature above which the magnetic materials lose their ferromagnetic

properties.

ii. Curie temperature is the temperature above which the non-magnetic materials gain ferromagnetic

properties

Answer options :

1) Only (i) 2) Only (ii) 3) Both (i) and (ii) 4) Neither (i) nor (ii)

84) H$m~©Z Q>oQ´mŠbmoamB©S> .............
i.  EH$ doXZmem‘H$ dm ỳ Amho
ii.  AmoPmoZ H$‘r H$aUmam nXmW© Amho
iii. A{¾em‘H$ gmYZm§‘Ü ò dmnabo OmVo
iv.  YmÝ`mVrb H$sQ>H$ ‘maÊ`mgmR>r dmnabo OmVo
n¶m©¶r CÎmao …
1) ’$º$ (i) 2) (ii) Am{U (iii) 3) (ii), (iii) Am{U (iv) 4) (i), (ii), (iii) Am{U (iv)

84) Carbon tetrachloride .............

i. is a sedative gas

ii.  is a ozone depleting substance

iii. is used in fire extinguishers

iv.  is used to kill insects in grains

Answer options :

1) Only (i) 2) (ii) and (iii) 3) (ii), (iii) and (iv) 4) (i), (ii), (iii) and (iv)

85) Imbrbn¡H$s H$moUË`m àH$maÀ`m bhar ZmBQ> pìhOZ CnH$aUm‘Ü ò dmnaë`m OmVmV?
A) ao{S>Amo bhar ~) ‘m`H«$modoìh H$) BÝ’«$maoS> bhar
n¶m©¶r CÎmao …
1) (A) ’$º$ 2) (A) Am{U (~) ’$º$ 3) (A), (~) Am{U (H$) 4) (H$) ’$º$
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85) Which one of the following types of waves are used in the night vision apparatus?

a) Radio waves b) Microwaves c) Infrared waves

Answer Options :

1) (a) only 2) (a) and (b) only 3) (a), (b) and (c) 4) (c) only

86) EH$m ’o$arda 60 H$ma Am{U 40 Q´H$ AmhoV. H$maMo gamgar dOZ 1500 {H$J«° Am{U Q´H$Mo gamgar dOZ 4000 {H$J«° Amho.
Va ’o$ardarb gd© 1000 dmhZm§Mo gamgar dñVw‘mZ {H$Vr Amho?
1) 1250 {H$J«° 2) 1500 {H$J«°
3) 1750 {H$J«° 4) darbn¡H$s EH$hr Zmhr

86) On a ferry, there are 60 cars and 40 trucks. The cars have an average mass of 1500 kg and the trucks

have an average mass of 4000 kg. What is the average mass of all 100 vehicles on the ferry?

1) 1250 kg 2) 1500 kg

3) 1750 kg 4) None of the above

87) 600 {H$‘rÀ`m CÈ>mUmXaå¶mZ, Iam~ hdm‘mZm‘wio {d‘mZmMm doJ H$‘r Pmbm. EHy$U àdmgmMm gamgar doJ hm ‘yi doJmnojm
Vmer 200 {H$‘rZo H$‘r Pmbm Am{U Ë`m‘wio CÈ>mUmMr doi 30 {‘{ZQ>m§Zr dmT>br. Va {d‘mZ àdmgmMm ‘yi H$mbmdYr {H$Vr
hmoVm?
1) 1 Vmg 2) 1.5 Vmg 3) 2 Vmg 4) darbn¡H$s H$mhrhr Zmhr

87) In a flight of 600 km, an aircraft was slowed down due to bad weather. Its average speed for the trip

was reduced by 200 km/hr and due to that the time of flight increased by 30 minutes. What is the

duration of original flight?

1) 1 hour 2) 1.5 hours 3) 2 hours 4) None of the above

88) 2 nwéf Am{U 3 ‘wbo 10 {XdgmV EH$ H$m‘ H$ê$ eH$VmV Va 3 nwéf Am{U 2 ‘wbo 8 {XdgmV VoM H$m‘ H$ê$ eH$VmV.
2 nwéf Am{U 1 ‘wbJm {H$Vr {XdgmV H$m‘ nyU© H$ê$ eH$VmV?
1) 12 {Xdg 2) 13 {Xdg 3) 14 {Xdg 4) darbn¡H$s H$mhrhr Zmhr

88) 2 men and 3 boys can do a piece of work in 10 days while 3 men and 2 boys can do the same work in

8 days. In how many days can 2 men and 1 boy finish the work?

1) 12 days 2) 13 days 3) 14 days 4) None of the above

89) {ZdS>UwH$sV EHy$U Zm|XUrH¥$V ‘VXmam§n¡H$s 75% ‘VXmam§Zr ‘VXmZ Ho$bo, Ë`mn¡H$s 2% ‘Vo Ad¡Y R>abr. EH$m C‘oXdmambm
9261 ‘Vo {‘imbr Or EHy$U d¡Y ‘Vm§À`m 75% hmoVr. Ë`m {ZdS>UwH$sV EHy$U {H$Vr ‘VXmam§Mr Zm|XUr Pmbr?
1) 16280 2) 16800 3) 18620 4) 18260

89) In an election 75% of total enrolled voters cast their votes, out of which 2% of the votes declared

invalid. A candidate got 9261 votes which were 75% of the total valid votes. What is the total number

of voters enrolled in that election?

1) 16280 2) 16800 3) 18620 4) 18260
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90) 11 gXñ`m§À`m {H«$Ho$Q> g§KmMm H$U©Yma 26 dfmªMm AgVmo Am{U `{ï>ajH$ Ë`mÀ`mnojm 3 dfmªZr ‘moR>m AgVmo. `m XmoKm§Mo
d` dJibo Va Cd©[aV IoimSy§>Mo gamgar d` g§nyU© g§KmÀ`m gamgar d`mnojm EH$ df© H$‘r Amho. g§nyU© g§KmMo gamgar d`
{H$Vr Amho?
1) 23 df} 2) 24 df} 3) 25 df} 4) 22 df}

90) The captain of a cricket team of 11 members is 26 years old and the wicket keeper is 3 years older

than him. If the ages of these two are excluded, the average age of the remaining players is one year

less than the average age of the whole team. What is the average age of whole team?

1) 23 years 2) 24 years 3) 25 years 4) 22 years

91) E‘ é.bm XyY IaoXr H$aVo. 6.40 à{V {bQ>a. Ë`mZ§Va Vo nmUr KmbyZ Vo {‘lU é.bm {dH$VmV. 8 à{V {bQ>a, Ë`m‘wio
37.5% Z’$m hmoVmo. Aem {‘lUmV nmÊ`mMo XwYmMo à‘mU {H$Vr AgVo?
1) 1:10 2) 1:15 3) 1:20 4) 1:25

91) M purchases milk for Rs. 6.40 per litre. He then adds water and sells the mixture at Rs. 8 per litre,

thereby making 37.5% profit. The proportion of water to milk in such mixture is how much?

1) 1:10 2) 1:15 3) 1:20 4) 1:25

92) Imbrb ‘m{bHo$V (?) À`m OmJr H$moUVr g§»`m òB©b?

1) 2) 3) 4) darbn¡H$s H$mhrhr Zmhr

92) Which number will come in the place of (?) in following series?

1) 2) 3) 4) None of the above

93) Imbrb {dYmZo {dMmamV ¿`m.
VÏ` 1 :   N bm Mma ‘wbo AmhoV.
dñVwpñWVr 2 :  XmoZ ‘wbm§Mo S>moio {Zio AmhoV Am{U XmoZ ‘wbm§Mo S>moio Vn{H$ar AmhoV.
VÏ` 3 : {Zå‘r ‘wbo ‘wbr AmhoV.
{VÝhr {dYmZo VÏ` Agë`mg, Imbrbn¡H$s H$moUVo {dYmZ XoIrb VÏ` Agbo nm{hOo?
I. {H$‘mZ EH$m ‘wbrMo S>moio {Zio AmhoV.
II. ‘wbm§n¡H$s XmoZ ‘wbo AmhoV.
III. ‘wbm§Mo S>moio Vn{H$ar AgVmV.
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n¶m©¶r CÎmao …
1) ’$º$ II 2) ’$º$ I Am{U III
3) ’$º$ II Am{U III 4) H$moUË`mhr {dYmZmV VÏ` Zmhr.

93) Consider the following statements.

Fact 1: N has four children.

Fact 2: Two of the children have blue eyes and two of the children have brown eyes.

Fact 3: Half of the children are girls.

If all the three statements are facts, which of the following statements must also be a fact?

I. At least one girl has blue eyes.

II. Two of the children are boys.

III. The boys have brown eyes.

Answer option :

1) II only 2) I and III only

3) II and III only 4) None of the statements is a fact.

94) hm`ñHy$b J{UV {d^mJmbm ZdrZ AÜ`j {Z ẁº$ H$aUo Amdûm`H$ Amho, Oo Á òð>Voda AmYm[aV Agob. W Mr Á òð>Vm T nojm
H$‘r Amho, nU B nojm OmñV Amho.   R Mr Á òð>Vm T nojm H$‘r Amho, nU W nojm OmñV Amho. T bm ZmoH$ar ZH$mo Amho.
Va J{UV {d^mJmMo Zdo AÜ`j H$moU hmoUma?
1) Ama 2) n 3) ~r 4) darbn¡H$s H$mhrhr Zmhr

94) The high school math department needs to appoint a new chairperson, which will be based on seniority.

W has less seniority than T, but more than B. R has more seniority than W, but less than T. T doesn’t

want the job. Who will be the new math department chairperson?

1) R 2) W 3) B 4) None of the above

95) EH$m {d{eï> gm§Ho${VH$ ̂ mfoV, "min jo par se" åhUOo  "get me a pen" ; "jo se hon pe "  åhUOo  "get a big hammer"

; "min wo sot" åhUOo  " pen and pencil". ‘J pen gmR>r H$moS> H$m` Amho?
1) Omo 2) gm°Q>
3) {‘Z 4) darbn¡H$s H$mhrhr Zmhr

95) In a certain code language "min jo par se" means "get me a pen" ; "jo se hon pe " means "get a big

hammer" ; "min wo sot" means " pen and pencil". Then what is code for pen?

1) jo 2) sot

3) min 4) None of the above

96) {Xem{ZX}e : àíZmÀ`m AmYr XmoZ {dYmZo (I) Am{U (II) Imbr {Xbr AmhoV. {dYmZm§‘Ü ò {Xbobr ‘m{hVr `m àíZmMo CÎma
XoÊ`mgmR>r nwaoer Amho H$s Zmhr ho Vwåhr R>adm`Mo Amho.
AmR>dS>çmVrb H$moUË`m {Xder narjm {Z`mo{OV Amho?
(I) narjm AmR>dS>çmÀ`m eodQ>r (åhUOo e{Zdma Am{U a{ddma) eoS>çwc Ho$bobr Zmhr
(II) gmo‘dma ~mø {H«$`mH$bmnm§gmR>r Am{U ~wYdma gm§ñH¥${VH$ {H«$`mH$bmnm§gmR>r Amho
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n¶m©¶r CÎmao …
1) àíZmMo CÎma XoÊ`mgmR>r EH$Q>o {dYmZ (I) nwaogo Amho.
2) àíZmMoo CÎma XoÊ`mgmR>r EH$Q>o {dYmZ (II) nwaogo Amho.
3) {dYmZ (I) Am{U (II) XmoÝhr EH$Ì àýmMo CÎma XoÊ`mgmR>r nwaogo AmhoV.
4) {dYmZ (I) Am{U (II) XmoÝhr EH$Ì àýmMo CÎma XoÊ`mgmR>r nwaogo ZmhrV.

96) Directions : Two statements (I ) and (II) are given below preceded by a question. You have to decide,

if the information given in the statements is sufficient to answer this question or not.

On which day of the week Exam is scheduled?

(I) Exam is not scheduled on weekends (i.e Saturday and Sunday)

(II) Monday is for outdoor activities and Wednesday is for Cultural activity

Answer option :

1) Statement (I) alone is sufficient to answer the question.

2) Statement (II) alone is sufficient to answer the question.

3) Statements (I) and (II) both together are sufficient to answer the question.

4) Statements (I) and (II) both together are not sufficient to answer the question.

97) Oa XmoZ g§»¶m§Mm JwUmH$ma Am{U ‘gm{d AZwH«$‘o 4107 Am{U 37 AmhoV, Va ‘moR>r g§»`m H$moUVr?
1) 259 2) 185 3) 111 4) 222

97) If the product and H.C.F. of two numbers are 4107 and 37 respectively, then what is the greater

number ?

1) 259 2) 185 3) 111 4) 222

98) ghm {‘Ì A, B, C, D, E, F Ioi IoiÊ`mgmR>r fQ>H$moZr Q>o~bÀ`m ~mOybm ~gbobo AmhoV, ‘mÌ Vo ¶mM H«$‘mZo ~gUo Amdí¶H$
Zmhr. F Omo A À`m AJXr g‘moa ~gbobm AgyZ, Vmo  B À¶m COì¶m ~mOyg bJoMM Amho. D hm A Am{U B ¶m§À¶m‘Ü ò ~gbm
AgyZ Vmo C À`m AJXr g‘moa Amho,  Va A hm Imbrbn¡H$s H$moUË`m XmoKm‘Ü ò ~gbm Amho ?
1) D Am{U E 2) B Am{U E
3) E Am{U C 4) darbn¡H$s H$mhrhr Zmhr

98) Six friends A, B, C, D, E, F are sitting along the sides of a hexagonal table for playing a game, though

not necessarily in the same order. F, who is sitting exactly opposite of A, is to the immediate right of

B.  D is between A and B and is exactly opposite to C,  then A is sitting between which of the following

pairs of persons?

1) D and E 2) B and E 3) E and C 4) None of the above

99) àË òH$ àl²Zmg‘moa Z‘yX Ho$bobr g§»`m Imbrb H$moS²g dmnê$Z H$moS> H$am`Mr Amho:
H«$‘m§H$ :  0  2 4  6  8  9  5  3 1  7
H$moS> :      L  B  A  M  K  T  R  X  U  P

952481027 gmR>r `mo½` H$moS> emoYm
1) TRBKAULBP 2) TRBAKLUBP 3) TRBAKULPB 4) TRBAKULBP
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99) The number mentioned against each question is to be coded using the following codes:

Number :  0   2  4  6    8   9   5    3   1  7

Code :        L  B  A  M  K  T   R   X   U  P

Find out the correct code for 952481027

1) TRBKAULBP 2) TRBAKLUBP 3) TRBAKULPB 4) TRBAKULBP

100) nwT>rc doZ AmH¥$VrVrc {d{dY AmH$ma ì¶º$s¨Mr nwT>rc d¡{eï>ço {ZX}{eV H$aVmV.
Mm¡ag - ñdÀN>VoMr AmdS> AgUmè¶m
Mm¡ag Zgcocm Am¶mV - qhXr ^mfm ~mocUmè¶m
dVy©i - ‘amR>r ^mfH$
{ÌH$moU - H$moUVohr H$m‘ H$‘r XOm©Mo Z ‘mZUmè¶m
n§MH$moZ - ‘mUgmV ôX^md Z H$aUmè¶m
nwT>o {Xcoë¶m AmH¥$Vrn¡H$s EH$mM doir ’$³V ñdÀN>VoMr AmdS> AgUmè¶m, H$moUVohr H$m‘ H$‘r XOm©Mo Z ‘mZUmè¶m d ‘amR>r
^mfH$ hr VrZM d¡{eï>ço AmhoV Aem§Mm Am{U ’$³V ñdÀN>VoMr AmdS> AgUmè¶m ‘mUgm§V ̂ oX^md Z H$aUmè¶m d qhXr ̂ mfH$
hr VrZM d¡{eï>ço AmhoV Ago g‘yh H$moUVo?

  A              ~   H$             S>
1) gd© 2) A Am{U ~ 3) H$ Am{U S> 4) EH$hr Zmhr

100) In the venn diagram various figures shows the features of persons.

square - people like cleanliness

Rectangle - who speaks Hindi

Circle - Who speaks Marathi

Triangle - people who thinks No work of inferior quality

Pentagon - Not discriminating between people

In the following figure, which of the following groups has only three characteristics of people who

are only interested in cleanliness, who consider no work as low quality and Marathi speakers and

who do not discriminate between people who are only interested in cleanliness and Hindi speakers

have only three characteristics?

A                     B   C                 D

1) All 2) A and B 3) C and D 4) None of them

________
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CÎmao … ‘hmamḯ> AamOn{ÌV godm (JQ> ~ d JQ> H$) nyd© narjm gamd nona

1-4 2-4 3-2 4-3 5-3 6-1 7-2 8-1 9-3 10-3

11-2 12-1 13-1 14-2 15-3 16-4 17-3 18-4 19-4 20-1

21-2 22-4 23-3 24-3 25-3 26-4 27-3 28-1 29-2 30-3

31-3 32-2 33-4 34-2 35-3 36-3 37-2 38-1 39-4 40-3

41-3 42-2 43-4 44-3 45-3 46-2 47-4 48-1 49-2 50-3

51-4 52-4 53-4 54-3 55-2 56-4 57-1 58-2 59-2 60-4

61-4 62-2 63-4 64-3 65-2 66-2 67-2 68-2 69-1 70-3

71-1 72-2 73-1 74-3 75-1 76-1 77-4 78-3 79-3 80-2

81-4 82-2 83-1 84-3 85-4 86-4 87-1 88-4 89-2 90-1

91-1 92-1 93-1 94-1 95-3 96-4 97-3 98-1 99-4 100-2

1) 2023 gmbr OmJ{VH$ Amamo½` g§KQ>ZoZo Imbrbn¡H$s H$moUË`m Xoembm ‘bo[a`m‘wº  åhUyZ à‘m{UV Ho$bo?
(A) ^maV (~) APa~¡OmZ (H$) nm{H$ñVmZ (S>) Vm{O{H$ñVmZ
n¶m©¶r CÎmao …
1) (A) Am{U (~) ’$º$ 2) (A), (~) Am{U (H$)
3) (A), (H$)  Am{U (S>$) ’$º$ 4) (~) Am{U (S>)

1) World Health Organisation (WHO) certified which of the following countries as Malaria-free

recently?

(a) India (b) Azerbaijan (c) Pakistan (d) Tajikistan

Answer Options :

1) (a) and (b) only 2) (a), (b) and (c) 3) (a), (c) and (d) 4)  (b) and (d)

narjobm OmVm OmVm... … gamd nona (25 E{àb, 2023)


